
MATHS

BOOKS - NIKITA MATHS (HINGLISH)

TRIGONOMETRIC FUNCTIONS

MCQs

1. The principal solutions of  is

A. 

B. 

C. 

D. 

Answer: C

sinx =
1

√2

−
π

4

−
3π

4

3π

4

5π

4

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_sYYcBCnNNn4f


Watch Video Solution

2. The principal solutions of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sinx =
1

√2

−
π

4

π

4

−
3π

4

5π

4

3. Find the principal solutions of each of the following equations : 

(i)  

(ii)  

(iii) 

sinx =
1
2

cos x =
1

√2

tanx =
1

√3

https://dl.doubtnut.com/l/_sYYcBCnNNn4f
https://dl.doubtnut.com/l/_9ncnKJA2wuMO
https://dl.doubtnut.com/l/_BwodrDQJfZIc


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

−π

6

−
5π

6

2π

3

−
2π

3

4. Find the principal solutions of each of the following equations : 

(i)  

(ii)  

(iii) 

A. 

B. 

C. 

sinx =
1

2

cos x =
1

√2

tanx =
1

√3

π

6

−
5π

6

7π
6

https://dl.doubtnut.com/l/_BwodrDQJfZIc
https://dl.doubtnut.com/l/_075naf9Sluic


D. 

Answer: D

Watch Video Solution

5π

4

5. समीकरण  का मुख्य हल ज्ञात कीजिए |

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

sinx =
√3

2

π

3

−
π

3

5π

3

−
2π

3

6. समीकरण  का मुख्य हल ज्ञात कीजिए |sinx =
√3

2

https://dl.doubtnut.com/l/_075naf9Sluic
https://dl.doubtnut.com/l/_sMZY1MKo2rGT
https://dl.doubtnut.com/l/_54K381ddWrKB


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

−
π

3

5π

4

2π

3

−
2π

3

7. The principal solution of  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

sinx =
−1

√2

π

4

3π

4

−
7π

4

7π

4

https://dl.doubtnut.com/l/_54K381ddWrKB
https://dl.doubtnut.com/l/_Cdo9ialL4Mo6


Watch Video Solution

8. The principal solution of  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

sinx =
−1

√2

π

4

3π

4

5π

4

−5π

4

9. The principal solution of  is

A. 

B. 

C. 

sinx =
−1

2

7π
6

−
7π
6

π

6

https://dl.doubtnut.com/l/_Cdo9ialL4Mo6
https://dl.doubtnut.com/l/_iesiesF1ijQA
https://dl.doubtnut.com/l/_oz0SftnedQ7W


D. 

Answer: A

Watch Video Solution

5π

6

10. The principal solution of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sinx =
−1

√2

11π

6

−
11π

6

π

6

5π

6

11. The principal solution of  issinx = −
√3
2

https://dl.doubtnut.com/l/_oz0SftnedQ7W
https://dl.doubtnut.com/l/_KcU9YefG2a78
https://dl.doubtnut.com/l/_6WupJrLsQfWo


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

π

3

4π
3

2π

3

−
4π
3

12. The principal solution of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sinx = −
√3

2

π

3

−5π

3

5π

3

2π

3

https://dl.doubtnut.com/l/_6WupJrLsQfWo
https://dl.doubtnut.com/l/_UfqRyqVvb9YA


Watch Video Solution

13. The principal solution  is

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

cos x =
−√3

2

5π

6

π

6

7π
6

−
5π

6

14. The principal solution  is

A. 

B. 

C. 

cos x =
√3

2

7π
6

−
5π

6

5π

6

https://dl.doubtnut.com/l/_UfqRyqVvb9YA
https://dl.doubtnut.com/l/_GZPe2jTDX2Q8
https://dl.doubtnut.com/l/_UqdwpDzuQYIU


D. 

Answer: D

Watch Video Solution

11π

6

15. The principal solution  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

cos x =
1

√2

π

4

3π

4

5π

4

−
3π

4

16. The principal solution  iscos x =
1

√2

https://dl.doubtnut.com/l/_UqdwpDzuQYIU
https://dl.doubtnut.com/l/_dpBqJ0nnQ33o
https://dl.doubtnut.com/l/_SrCFnDEwC3Ru


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3π

4

−
3π

4

5π

4

7π
4

17. The principal solution  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

cos x =
1

2

2π

3

−
2π

3

π

3

7π
4

https://dl.doubtnut.com/l/_SrCFnDEwC3Ru
https://dl.doubtnut.com/l/_QQb7Bxp8sa0v


18. The principal solution  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

cos x =
1

2

7π
3

−
2π

3

2π

3

5π

3

19. The principal solution  is

A. 

B. 

C. 

cos x =
−√3

2

5π

6

π

6

π

3

https://dl.doubtnut.com/l/_QQb7Bxp8sa0v
https://dl.doubtnut.com/l/_a97h3eryJk3i
https://dl.doubtnut.com/l/_hmmpURDKp3VN


D. 

Answer: A

Watch Video Solution

−π

6

20. The principal solution  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

cos x =
−√3

2

π

6

7π
6

−π

6

π

3

21. The principal solution  iscos x = −
1

√2

https://dl.doubtnut.com/l/_hmmpURDKp3VN
https://dl.doubtnut.com/l/_VHxIs1ng85ak
https://dl.doubtnut.com/l/_VXTC34XA8AS2


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

π

4

3π

4

7π
4

−
π

4

22. The principal solution  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

cos x = −
1

√2

π

4

7π

6

5π

4

−
π

4

https://dl.doubtnut.com/l/_VXTC34XA8AS2
https://dl.doubtnut.com/l/_Ak59qKlQLK5b


Watch Video Solution

23. The principal solution  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

cos x = −
1
2

2π

3

π

3

5π

4

−
π

3

24. The principal solution  is

A. 

B. 

C. 

cos x = −
1
2

5π

4

π

3

4π

3

https://dl.doubtnut.com/l/_Ak59qKlQLK5b
https://dl.doubtnut.com/l/_GawMxKSZ0J0J
https://dl.doubtnut.com/l/_S5c0yzCRENyU


D. 

Answer: C

Watch Video Solution

−
π

3

25. The principal solution  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

tanx =
1

√3

5π

6

11π

6

−π

6

π

6

26. The principal solution  istanx =
1

√3

https://dl.doubtnut.com/l/_S5c0yzCRENyU
https://dl.doubtnut.com/l/_tUANmMqX33o9
https://dl.doubtnut.com/l/_SmMVObygoLvE


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

7π
6

5π

6

11π

6

π

6

27. The principal solution  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

tanx = 1

3π

4

π

4

7π
4

−π

4

https://dl.doubtnut.com/l/_SmMVObygoLvE
https://dl.doubtnut.com/l/_DYsSbTkIWGDs


28. The principal solution  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

tanx = 1

7π
4

3π

4

−5π

4

5π

4

29. The principal solution  is

A. 

B. 

C. 

tanx = √3

π

3

2π

3

−π

3

https://dl.doubtnut.com/l/_DYsSbTkIWGDs
https://dl.doubtnut.com/l/_wP59OSaYsZxJ
https://dl.doubtnut.com/l/_GoVvwyoNM9rO


D. 

Answer: A

Watch Video Solution

−4π
3

30. The principal solution  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

tanx = √3

2π

3

4π
3

−π

3

−4π
3

31. The principal solution  istanx =
1

√3

https://dl.doubtnut.com/l/_GoVvwyoNM9rO
https://dl.doubtnut.com/l/_5sHagkfKrXHu
https://dl.doubtnut.com/l/_QmWug04963P3


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

7π
6

π

6

5π

6

−5π

6

32. The principal solution  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

tanx =
1

√3

11π

6

7π

6

π

6

−5π

6

https://dl.doubtnut.com/l/_QmWug04963P3
https://dl.doubtnut.com/l/_wxQXH4FHJMtn


Watch Video Solution

33. The principal solution  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

tanx = − 1

5π

4

π

4

3π

4

−
3π

4

34. The principal solution  is

A. 

B. 

C. 

tanx = − 1

−
3π

4

5π

4

π

4

https://dl.doubtnut.com/l/_wxQXH4FHJMtn
https://dl.doubtnut.com/l/_Ir8HbDM14mRO
https://dl.doubtnut.com/l/_qDjxp0zU7Pax


D. 

Answer: D

Watch Video Solution

7π
4

35. The principal solution  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

tanx = − √3

2π

3

π

3

4π
3

−2π

3

36. The principal solution  istanx = − √3

https://dl.doubtnut.com/l/_qDjxp0zU7Pax
https://dl.doubtnut.com/l/_GW9JfIGBwmgP
https://dl.doubtnut.com/l/_CR5SR6emsq2h


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

π

3

5π

3

4π
3

−
2π

3

37. The principal solution  are

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

cos ecx = √2

,
π

2

2π

3

,
−π

4

−3π

4

,
5π

4
7π
4

,
π

4

3π

4

https://dl.doubtnut.com/l/_CR5SR6emsq2h
https://dl.doubtnut.com/l/_RkDj7BN8F8XC


38. General solution of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

cos ecx = − √2

,
π

2

2π

3

,
−5π

4
−7π

4

,
5π

4
7π
4

,
π

4

3π

4

39. The principal solution  are

A. 

B. 

C. 

cos ecx = 2

,
π

3

π

6

,
π

6

5π

6

,
7π
6

11π

6

https://dl.doubtnut.com/l/_RkDj7BN8F8XC
https://dl.doubtnut.com/l/_ATeBC3qS61KF
https://dl.doubtnut.com/l/_Y0SGbCVH2iWz


D. 

Answer: B

Watch Video Solution

,
−π

6

−5π

6

40. The principal solution  are

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

cos ecx = − 2

,
−7π

6

−11π

6

,
π

6
7π
6

,
π

6

5π

6

,
7π
6

11π

6

41. The principal solution  are√3 cos ecx − 2 = 0

https://dl.doubtnut.com/l/_Y0SGbCVH2iWz
https://dl.doubtnut.com/l/_f9jyKqQQKHTE
https://dl.doubtnut.com/l/_bbP4M7ITP9ti


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

,
π

3

3π

3

,
4π
3

5π

3

,
−π

3

−2π

3

,
π

3
4π
3

42. The principal solution  are

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

√3 cos ecx + 2 = 0

,
π

3

3π

3

,
2π

3

5π

3

,
4π
3

5π

3

,
π

3
4π
3

https://dl.doubtnut.com/l/_bbP4M7ITP9ti
https://dl.doubtnut.com/l/_tE8N92sAloV5


43. The principal solution  are

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

√3 secx − 2 = 0

,
5π

6
7π
6

,
π

6

11π

6

,
π

6

5π

6

,
7π
6

11π

6

44. The principal solution  are

A. 

B. 

C. 

√3 secx + 2 = 0

,
5π

6
7π
6

,
π

6

11π

6

,
π

6

5π

6

https://dl.doubtnut.com/l/_tE8N92sAloV5
https://dl.doubtnut.com/l/_N9VgiGeQhr41
https://dl.doubtnut.com/l/_6KvuPbrvHHTJ


D. 

Answer: A

Watch Video Solution

,
7π
6

11π

6

45. The principal solution  are

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

secx = √2

,
3π

4

5π

4

,
π

4

5π

4

,
3π

4
7π
4

,
π

4
7π
4

46. The principal solution  aresecx = √2

https://dl.doubtnut.com/l/_6KvuPbrvHHTJ
https://dl.doubtnut.com/l/_wF2BuXsIKDvP
https://dl.doubtnut.com/l/_8hOq9rXPq4bq


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

,
3π

4

5π

4

,
π

4

5π

4

,
3π

4
7π
4

,
π

4
7π
4

47. The principal solution  are

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

secx = 2

,
π

3

2π

3

,
π

3

5π

3

,
2π

3
4π
3

,
4π
3

5π

3

https://dl.doubtnut.com/l/_8hOq9rXPq4bq
https://dl.doubtnut.com/l/_pD8Z4BuY5Jdt


48. The principal solution  are

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

secx = − 2

,
π

3

2π

3

,
π

3

5π

3

,
2π

3
4π
3

,
4π
3

5π

3

49. The principal solution  are

A. 

B. 

C. 

√3 cot x − 1 = 0

,
π

3
4π
3

,
2π

3

5π

3

,
π

3

2π

3

https://dl.doubtnut.com/l/_pD8Z4BuY5Jdt
https://dl.doubtnut.com/l/_f7DANum3DAjz
https://dl.doubtnut.com/l/_EHOLme4DZcnz


D. 

Answer: A

Watch Video Solution

,
4π
3

5π

3

50. The principal solution  are

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

√3 cot x + 1 = 0

,
π

3
4π
3

,
2π

3

5π

3

,
π

3

2π

3

,
4π
3

5π

3

51. The principal solution  arecot x = 1

https://dl.doubtnut.com/l/_EHOLme4DZcnz
https://dl.doubtnut.com/l/_xOSBR4wuKFwK
https://dl.doubtnut.com/l/_URZ3dF6wq32m


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

,
π

4

3π

4

,
π

4

5π

4

,
5π

4
7π
4

,
3π

4
7π
4

52. The principal solution  are

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

cot x = − 1

,
π

4

3π

4

,
π

4

5π

4

,
5π

4
7π
4

,
3π

4
7π
4

https://dl.doubtnut.com/l/_URZ3dF6wq32m
https://dl.doubtnut.com/l/_zS9SDGAJ4MsT


53. The principal solution  are

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

cot x = √3

,
π

6

5π

6

,
7π
6

11π

6

,
π

6
7π
6

,
5π

6

11π

6

54. 

A. 

B. 

C. 

cot x = − √3

,
π

6

5π

6

,
7π
6

11π

6

,
π

6
7π
6

https://dl.doubtnut.com/l/_zS9SDGAJ4MsT
https://dl.doubtnut.com/l/_AGdqNvSDA8XS
https://dl.doubtnut.com/l/_ype80vKpGfPs


D. 

Answer: D

Watch Video Solution

,
5π

6

11π

6

55. Principal solutions of the equation , where 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sin 2x + cos 2x = 0

π < x < 2π

,
7π
8

11π

8

,
9π

8

13π

8

,
11π

8

15π

8

,
15π

8

19π

8

https://dl.doubtnut.com/l/_ype80vKpGfPs
https://dl.doubtnut.com/l/_9oC5SXEnx9uC


56. The principal solutions of  are

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2 sin2 x = 3 cos x

,
π

3

5π

3

,
π

3

2π

3

,
2π

3
4π
3

,
4π
3

5π

3

57. If  then x=

A. 

B. 

C. 

D. 

(2 cos x − 1)(3 + 2 cos x) = 0, 0 ≤ x ≤ 2π,

π

3

5π

3

, , cos − 1( )
π

3

5π

3

−3

2

,
π

3

5π

3

https://dl.doubtnut.com/l/_7y3mUMlDn4eZ
https://dl.doubtnut.com/l/_i7VNjnXkMO1C


Answer: D

Watch Video Solution

58. If  then x=

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sinx + sin 4x + sin 7x = 0 and 0 < x < π,

, , , , ,
2π

9

π

4

π

2

2π

3

3π

4

8π

9

, , , , ,
2π

9

π

4
4π
9

π

2

3π

4

8π

9

, , , , ,
2π

9
4π
9

π

2

2π

3

3π

4

8π

9

, , , , ,
π

4

5π

12

π

2

2π

3

3π

4

8π

9

59. The value of  lying between 0 and  and satisfying θ
π

2
∣
∣
∣
∣
∣

1 + sin2 θ cos2 θ 4 sin 4θ

sin2 θ 1 + cos2 θ 4 sin 4θ

sin2 θ cos2 θ 1 + 4 sin 4θ

∣
∣

∣

∣
∣

= 0

https://dl.doubtnut.com/l/_i7VNjnXkMO1C
https://dl.doubtnut.com/l/_FdOALbkASEKJ
https://dl.doubtnut.com/l/_3vvr7qMGOY82


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

π

24

5π

24

or
7π
24

11π

24

or
7π
24

5π

24

60. If , then the value of x lies in the interval

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

cos2 x + sinx + 1 = 0

( , )
π

4

3π

4

( , )
π

4

5π

4

( , )
5π

4
7π
4

,
3π

4

5π

4

https://dl.doubtnut.com/l/_3vvr7qMGOY82
https://dl.doubtnut.com/l/_fmEwz9lhdFIv


61. In , the number of solutions of  are

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(0, 2π) cos 2θ = sin θ

1

2

3

4

62. In , the number of solutions of  are

A. 

B. 

C. 

(0, 2π) tan θ + secθ = 2 cos θ

0

1

2

https://dl.doubtnut.com/l/_fmEwz9lhdFIv
https://dl.doubtnut.com/l/_KCER9jXMvv3b
https://dl.doubtnut.com/l/_z8Kl9oFJ5Y5p


D. 

Answer: D

Watch Video Solution

3

63. In , the number of solutions of  are

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(0, 3π) 2 sin2 θ + 5 sin θ − 3 = 0

4

3

2

1

64. In , the number of solutions of  are(0, 4π) 2 sin2 θ = cos 2θ

https://dl.doubtnut.com/l/_z8Kl9oFJ5Y5p
https://dl.doubtnut.com/l/_GjdlDttuF1BF
https://dl.doubtnut.com/l/_CRUngxatgHEP


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

4

2

8

6

65. If , then the number of real values of x, which satisfy the

equation ;

A. 

B. 

C. 

D. 

Answer: C

0 ≤ x < 2π

cos x + cos 2x + cos 3x + cos 4x = 0

3

5

7

9

https://dl.doubtnut.com/l/_CRUngxatgHEP
https://dl.doubtnut.com/l/_eQA1GY8aozS3


Watch Video Solution

66. General solutions of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sin 3x = 0

nπ, n ∈ Z

2nπ, n ∈ Z

, n ∈ Z
nπ

3

, n ∈ Z
2nπ

3

67. General solution of  is

A. 

B. 

sin( ) = 0
3x

2

, n ∈ Z
nπ

3

, n ∈ Z
2nπ

3

https://dl.doubtnut.com/l/_eQA1GY8aozS3
https://dl.doubtnut.com/l/_ciBfRV29BBTA
https://dl.doubtnut.com/l/_lDOfJERfMyw1


C. 

D. 

Answer: C

Watch Video Solution

nπ, n ∈ Z

, n ∈ Z
3nπ

2

68. General solution of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sin(x + ) = 0
π

5

nπ + , n ∈ Z
π

5

nπ − , n ∈ Z
π

5

2nπ + , n ∈ Z
π

5

2nπ − , n ∈ Z
π

5

https://dl.doubtnut.com/l/_lDOfJERfMyw1
https://dl.doubtnut.com/l/_WclzD5LlDtdW


69. General solution of  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

cos 2x = 0

(2n − 1) , n ∈ Z
π

2

(2n − 1) , n ∈ Z
π

4

(2n + 1) , n ∈ Z
π

2

(2n + 1) , n ∈ Z
π

4

70. General solution of  is

A. 

B. 

C. 

D. 

cos( ) = 0
5x

2

(4n + 1) , n ∈ Z
5π

2

(4n + 1) , n ∈ Z
2π

5

(4n + 1) , n ∈ Z
π

2

(4n + 1) , n ∈ Z
π

5

https://dl.doubtnut.com/l/_Fy59LAS69gEx
https://dl.doubtnut.com/l/_LkahzM5tEo8h


Answer: D

Watch Video Solution

71. General solution of  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

cos(x + ) = 0
π

10

(2n + 1) − , n ∈ Z
π

2

π

10

(2n + 1) + , n ∈ Z
π

2

π

10

(2n + 1) − , n ∈ Z
π

2

π

5

(2n + 1) + , n ∈ Z
π

2

π

5

72. General solution of  is

A. 

sinx =
√3

2

nπ + ( − 1)n , n ∈ Z
π

3

https://dl.doubtnut.com/l/_LkahzM5tEo8h
https://dl.doubtnut.com/l/_S6K6xXii43m4
https://dl.doubtnut.com/l/_Axyt628utxRv


B. 

C. 

D. 

Answer: A

Watch Video Solution

2nπ + ( − 1)n , n ∈ Z
π

3

nπ + ( − 1)n− 1 , n ∈ Z
π

3

nπ + ( − 1)n+ 1 , n ∈ Z
π

3

73. Find the general value of x for which .

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

√3  cosec x = 2

nπ + ( − 1)n− 1 , n ∈ Z
π

3

nπ + ( − 1)n− 1 , n ∈ Z
2π

3

nπ + ( − 1)n , n ∈ Z
π

3

nπ + ( − 1)n , n ∈ Z
2π

3

https://dl.doubtnut.com/l/_Axyt628utxRv
https://dl.doubtnut.com/l/_0jmGEMgpkgnQ


74. General solution of  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

sinx =
−√3

2

nπ + ( − 1)n , n ∈ Z
π

3

nπ + ( − 1)n , n ∈ Z
5π

3

nπ + ( − 1)n , n ∈ Z
7π
3

nπ + ( − 1)n , n ∈ Z
4π
3

75. General solution of  is

A. 

B. 

C. 

D. 

cos ecx = − √2

2nπ + ( − 1)n , n ∈ Z
7π
4

2nπ + ( − 1)n , n ∈ Z
5π

4

nπ + ( − 1)n , n ∈ Z
7π
4

nπ + ( − 1)n , n ∈ Z
5π

4

https://dl.doubtnut.com/l/_IZzyG6ISQrXA
https://dl.doubtnut.com/l/_kjxMQAQQLWEi


Answer: D

Watch Video Solution

76. General solution of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sin 2x =
1

2

nπ + ( − 1)n , n ∈ Z
π

12

nπ + ( − 1)n , n ∈ Z
π

6

+ ( − 1)n , n ∈ Z
nπ

2

π

12

+ ( − 1)n , n ∈ Z
nπ

2

π

6

77. General solution of  is

A. 

cos ec3x =
−2

√3

+ ( − 1)
n

, n ∈ Z
nπ

3

5π

3

https://dl.doubtnut.com/l/_kjxMQAQQLWEi
https://dl.doubtnut.com/l/_oM5i8o5Vly5F
https://dl.doubtnut.com/l/_iHQIqq02SX97


B. 

C. 

D. 

Answer: D

Watch Video Solution

+ ( − 1)n , n ∈ Z
nπ

3

5π

9

+ ( − 1)n , n ∈ Z
nπ

3
4π
3

+ ( − 1)n , n ∈ Z
nπ

3
4π
9

78. General solution of  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

sin 4x =
√3

2

+ ( − 1)n , n ∈ Z
nπ

4

π

12

+ ( − 1)n , n ∈ Z
nπ

4

π

3

nπ + ( − 1)n , n ∈ Z
π

12

nπ + ( − 1)n , n ∈ Z
π

3

https://dl.doubtnut.com/l/_iHQIqq02SX97
https://dl.doubtnut.com/l/_6ECuXvzG4Zuy


79. General solution of  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1 − cos x = sinx sin( )
x

2

2nπ, 4nπ, n ∈ Z

nπ, 2nπ, n ∈ Z

nπ, , n ∈ Z
nπ

2

, , n ∈ Z
nπ

3

2nπ

3

80. General solution of  is

A. 

B. 

C. 

D. 

secx − cos ecx =
4
3

nπ − ( − 1)n sin− 1( ), n ∈ Z
3

4

nπ − sin− 1( ), n ∈ Z
( − 1)

n

2

3

4

− sin− 1( ), n ∈ Z
nπ

2

( − 1)
n

2

3

4

− ( − 1)n sin− 1( ), n ∈ Z
nπ

2

3

4

https://dl.doubtnut.com/l/_MEHsfgoV6YOQ
https://dl.doubtnut.com/l/_6kqRqisaT5iA


Answer: B

View Text Solution

81. General solution of  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

sin2 x + sinx = 2

+ ( − 1)n , n ∈ Z
nπ

2

π

4

+ ( − 1)n , n ∈ Z
nπ

2

π

2

(nπ) + ( − 1)n , n ∈ Z
3π

2

nπ + ( − 1)n , n ∈ Z
π

2

82. General solution of  is

A. 

tanx + cot x = 2

+ ( − 1)n , n ∈ Z
nπ

2

π

4

https://dl.doubtnut.com/l/_6kqRqisaT5iA
https://dl.doubtnut.com/l/_4VX2uzX6iI3S
https://dl.doubtnut.com/l/_RDNAXy0GW7Oy


B. 

C. 

D. 

Answer: A

Watch Video Solution

+ ( − 1)n , n ∈ Z
nπ

2

π

2

nπ + ( − 1)n , n ∈ Z
π

4

nπ + ( − 1)n , n ∈ Z
π

2

83. The general solution of equation  is:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3 tan(θ − 15o) = tan(θ + 15o)

+ ( − 1)n , n ∈ Z
nπ

2

π

4

+ ( − 1)n , n ∈ Z
nπ

2

π

2

2nπ + , n ∈ Z
π

4

2nπ − , n ∈ Z
π

4

https://dl.doubtnut.com/l/_RDNAXy0GW7Oy
https://dl.doubtnut.com/l/_xIHQiRy7l7hC


84. General solution of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

cos x = 1

nπ, n ∈ Z

2nπ, n ∈ Z

3nπ, n ∈ Z

4nπ, n ∈ Z

85. General solution of  is

A. 

B. 

C. 

D. 

cos x =
−1

2

2nπ ± , n ∈ Z
π

3

2nπ ± , n ∈ Z
2π

3

nπ ± , n ∈ Z
2π

3

3nπ ± , n ∈ Z
4π
3

https://dl.doubtnut.com/l/_miYA7ReuSXOF
https://dl.doubtnut.com/l/_lRmO65hW8OzG


Answer: B

Watch Video Solution

86. General solution of  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

cos x =
1

√2

nπ + , n ∈ Z
π

4

2nπ + , n ∈ Z
π

4

2nπ − , n ∈ Z
π

4

2nπ ± , n ∈ Z
π

4

87. General solution of  is

A. 

secx = √2

2nπ ± , n ∈ Z
7π

4

https://dl.doubtnut.com/l/_lRmO65hW8OzG
https://dl.doubtnut.com/l/_Sp4NjB5Lc9Ik
https://dl.doubtnut.com/l/_BhWisv7atx9c


B. 

C. 

D. 

Answer: B

Watch Video Solution

2nπ ± , n ∈ Z
π

4

4nπ ± , n ∈ Z
7π
2

4nπ ± , n ∈ Z
π

2

88. General solution of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

secx + √2 = 0

2nπ ± , n ∈ Z
π

4

2nπ ± , n ∈ Z
3π

4

2nπ ± , n ∈ Z
5π

4

2nπ ± , n ∈ Z
7π
4

https://dl.doubtnut.com/l/_BhWisv7atx9c
https://dl.doubtnut.com/l/_5VfZBDZ5CWaa


89. General solution of  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2 cos 2x = − 1

2nπ ± , n ∈ Z
2π

3

2nπ ± , n ∈ Z
3π

2

2nπ ± , n ∈ Z
π

3

nπ ± , n ∈ Z
π

3

90. General solution of  is

A. 

B. 

C. 

D. 

cos 3x =
1

√2

± , n ∈ Z
2nπ

3

π

12

± , n ∈ Z
nπ

3

π

12

±
2nπ

3

π

4

± , n ∈ Z
nπ

3

π

4

https://dl.doubtnut.com/l/_yHqj0UxTjIuu
https://dl.doubtnut.com/l/_THveLi01LNQz


Answer: A

Watch Video Solution

91. General solution of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sec 3x = − 2

2(3n ± 1) , n ∈ Z
π

3

2(n ± 3) , n ∈ Z
π

3

2(3n ± 1) , n ∈ Z
π

9

2(n ± 3) , n ∈ Z
π

9

92. If  then

A. 

cos pθ = cos qθ, p ≠ q,

θ = 2nπ, n ∈ Z

https://dl.doubtnut.com/l/_THveLi01LNQz
https://dl.doubtnut.com/l/_U7tZ5F4vzRBg
https://dl.doubtnut.com/l/_OSSrXb3URKA4


B. 

C. 

D. 

Answer: C

Watch Video Solution

θ = , n ∈ Z
nπ

p + q

θ = , n ∈ Z
2nπ

p ± q

θ = , n ∈ Z
nπ

p ± q

93. The general value of x obtained from the equation  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

cos 2x = sinα

x = 2nπ ± ( − α), n ∈ Z
π

2

x = , n ∈ Z
nπ + ( − 1)nα

2

x = nπ ± ( − ), n ∈ Z
π

4
α

2

2x = − α
π

2

https://dl.doubtnut.com/l/_OSSrXb3URKA4
https://dl.doubtnut.com/l/_4OCK4tCXnv5J


94. General solution of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

=
1 − tan2 x

sec2 x

1

2

nπ + , n ∈ Z
π

6

nπ − , n ∈ Z
π

6

nπ ± , n ∈ Z
π

6

2nπ ± , n ∈ Z
π

6

95. Find the general solution of : 

.

A. 

B. 

C. 

cot x + tanx = 2 cos ecx

2nπ ± , n ∈ Z
2π

3

2nπ ± , n ∈ Z
4π
3

2nπ ± , n ∈ Z
5π

3

https://dl.doubtnut.com/l/_rizKcVYTw56K
https://dl.doubtnut.com/l/_qf3FQAFI9i2n


D. 

Answer: D

Watch Video Solution

2nπ ± , n ∈ Z
π

3

96. General solution of  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

cos 2x + 3 cos x = 0

nπ ± cos − 1( ), n ∈ Z
−3 + √17

4

2nπ ± cos − 1( ), n ∈ Z
−3 + √17

4

2nπ ± cos − 1( ), n ∈ Z
−3 − √17

4

2nπ ± cos − 1( ), n ∈ Z
−3 + √17

4

97. General solution of  is8 tan2( ) = 1 + secx
x

2

https://dl.doubtnut.com/l/_qf3FQAFI9i2n
https://dl.doubtnut.com/l/_857HhYJl7yHD
https://dl.doubtnut.com/l/_64Wu8ld6NKYy


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2nπ ± cos − 1( ), n ∈ Z
2

3

2nπ ± cos − 1( ), n ∈ Z
1

3

nπ ± cos − 1( ), n ∈ Z
2

3

nπ ± cos − 1( ), n ∈ Z
1

3

98. General solution of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

=
cos 3x

2 cos 2x − 1

1

2

2nπ ± , n ∈ Z
π

6

2nπ ± , n ∈ Z
π

4

2nπ ± , n ∈ Z
π

3

2nπ ± , n ∈ Z
π

2

https://dl.doubtnut.com/l/_64Wu8ld6NKYy
https://dl.doubtnut.com/l/_DB2ofVDl5FXA


99. If , then x=

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∣
∣
∣
∣

cos x sinx cos x

−sinx cos x sinx

−cos x −sinx cos x

∣
∣

∣
∣

= 0

(2n + 1) , n ∈ Z
π

2

(2n + 1) , n ∈ Z
3π
2

(2n + 1) , n ∈ Z
π

4

(2n + 1)π, n ∈ Z

100. If , then B=

A. 

B. 

∣
∣
∣
∣
∣

cos(A + B) −sin(A + B) cos 2B

sinA cosA sinB

−cosA sinA cosB

∣
∣

∣

∣
∣

= 0

nπ, n ∈ Z

2nπ, n ∈ Z

https://dl.doubtnut.com/l/_DB2ofVDl5FXA
https://dl.doubtnut.com/l/_hjPbCTjFFwQH
https://dl.doubtnut.com/l/_iITdAG95K0Qx


C. 

D. 

Answer: A

Watch Video Solution

(2n ± 1) , n ∈ Z
π

2

(2nπ ± 1)π, n ∈ Z

101. The general solution of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sin2 x − 2 cos x + = 0
1

4

2nπ ± , n ∈ Z
π

6

2nπ ± , n ∈ Z
π

3

nπ ± , n ∈ Z
π

6

nπ ± , n ∈ Z
π

3

https://dl.doubtnut.com/l/_iITdAG95K0Qx
https://dl.doubtnut.com/l/_jdhNXitOOcDK


102. General solution of  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3 sin2 x + 10 cos x − 6 = 0

2nπ ± cos − 1( ), n ∈ Z
1

3

2nπ ± cos − 1( ), n ∈ Z
2

3

nπ ± cos − 1( ), n ∈ Z
1

3

nπ ± cos − 1( ), n ∈ Z
2

3

103. The principal solution  is

A. 

B. 

C. 

D. 

tanx = − 1

nπ + , n ∈ Z
3π

4

nπ − , n ∈ Z
3π

4

nπ + , n ∈ Z
π

4

nπ − , n ∈ Z
π

4

https://dl.doubtnut.com/l/_G28y5qs4cqT9
https://dl.doubtnut.com/l/_mxxFTakDalBH


Answer: A

Watch Video Solution

104. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

tanx = √3

nπ ± , n ∈ Z
π

3

nπ − , n ∈ Z
π

3

nπ + , n ∈ Z
π

3

2nπ + , n ∈ Z
π

3

105. 

A. 

cot x = − √3

nπ + , n ∈ Z
5π

6

https://dl.doubtnut.com/l/_mxxFTakDalBH
https://dl.doubtnut.com/l/_2VM2XN5s4PU6
https://dl.doubtnut.com/l/_sVK83ErCweLT


B. 

C. 

D. 

Answer: A

Watch Video Solution

nπ + , n ∈ Z
7π
6

nπ + , n ∈ Z
11π

6

nπ + , n ∈ Z
π

6

106. General solution of  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

tan( ) = √3
2x

3

(2n + 1) , n ∈ Z
π

3

(3n + 1) , n ∈ Z
π

3

(2n + 1) , n ∈ Z
π

2

(3n + 1) , n ∈ Z
π

2

https://dl.doubtnut.com/l/_sVK83ErCweLT
https://dl.doubtnut.com/l/_USLyLWfowZN2


107. Find the general solution of each of the equations : 

(i)  

(ii) 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sin 2x = −
1

2

tan 3x = − 1

+ , n ∈ Z
nπ

3

3π

4

nπ + , n ∈ Z
3π

4

+ , n ∈ Z
nπ

3

π

4

nπ + , n ∈ Z
π

4

108. General solution of  is

A. 

B. 

C. 

cot 4x = − 1

+ , n ∈ Z
nπ

4

3π

4

+ , n ∈ Z
nπ

4

3π

16

nπ + , n ∈ Z
3π

4

https://dl.doubtnut.com/l/_ky9prpctMojL
https://dl.doubtnut.com/l/_2aM1lw76d7Ne


D. 

Answer: B

Watch Video Solution

nπ + , n ∈ Z
3π

16

109. The general solution of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

tan θ tan 2θ = 1

(2n + 1) , n ∈ Z
π

2

(2n + 1) , n ∈ Z
π

6

(2n ± ) , n ∈ Z
1

2

π

3

(n ± ) , n ∈ Z
1

2

π

3

110. General solution of  iscot x + cos ecx = √3

https://dl.doubtnut.com/l/_2aM1lw76d7Ne
https://dl.doubtnut.com/l/_jd0j4tJpRtOy
https://dl.doubtnut.com/l/_zRuAB1dwsF0A


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2nπ + , n ∈ Z
π

6

2nπ + , n ∈ Z
π

3

2nπ + , n ∈ Z
π

4

2nπ + , n ∈ Z
π

2

111. General solution of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

tan 5θ = cot 2θ

+ , n ∈ Z
nπ

7

π

2

+ , n ∈ Z
nπ

7

π

14

+ , n ∈ Z
nπ

7

π

7

+ , n ∈ Z
nπ

5

π

10

https://dl.doubtnut.com/l/_zRuAB1dwsF0A
https://dl.doubtnut.com/l/_djfEoM0v3Io7


112. If , then the general values of  are in

A. A.P.

B. G.P.

C. H.P.

D. A.G.P.

Answer: A

Watch Video Solution

tanmθ = tannθ θ

113. General solution of  is

A. 

B. 

C. 

tan θ + tan( − θ) = 2
π

2

nπ + , n ∈ Z
π

8

2nπ + , n ∈ Z
π

8

nπ + , n ∈ Z
π

4

https://dl.doubtnut.com/l/_djfEoM0v3Io7
https://dl.doubtnut.com/l/_xZFfHHdvHwWl
https://dl.doubtnut.com/l/_k0iphUF9bqDz


D. 

Answer: C

Watch Video Solution

2nπ + , n ∈ Z
π

4

114. If  then  is equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

sin( cos θ) = cos( tan θ),
π

4

π

4
θ

nπ ± , n ∈ Z
π

3

nπ ± , n ∈ Z
π

4

nπ + , n ∈ Z
π

3

nπ + , n ∈ Z
π

4

https://dl.doubtnut.com/l/_k0iphUF9bqDz
https://dl.doubtnut.com/l/_NsWkzTb3fIJw


115. The general solution of the equation

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

tanx + tan 2x + tanx. tan 2x = 1

nπ + , n ∈ Z
π

4

+ , n ∈ Z
nπ

3

π

12

nπ + , n ∈ Z
π

12

+ , n ∈ Z
nπ

3

π

4

116. The general solution of the equation

 is

A. 

B. 

tanx + tan(x + ) + tan(x + ) = 3
π

3

2π

3

(2n + 1) , n ∈ Z
π

6

(4n + 1) , n ∈ Z
π

6

https://dl.doubtnut.com/l/_1JnTEKszfJGk
https://dl.doubtnut.com/l/_w0WaA2WiEB5V


C. 

D. 

Answer: D

Watch Video Solution

(2n + 1) , n ∈ Z
π

12

(4n + 1) , n ∈ Z
π

12

117. General solution of  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

= √3
tan 3x − 1

tan 3x + 1

− , n ∈ Z
nπ

3
7π
12

+ , n ∈ Z
nπ

3
7π
12

− , n ∈ Z
nπ

3
7π
36

+ , n ∈ Z
nπ

3
7π
36

https://dl.doubtnut.com/l/_w0WaA2WiEB5V
https://dl.doubtnut.com/l/_mrcD9WYCH8Ea


118. General solution of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

√3 tan 2θ + √3 tan 3θ + tan 2θ tan 3θ = 1

(n + ) , n ∈ Z
1

3

π

5

(n + ) , n ∈ Z
1

6

π

5

(n + ) , n ∈ Z
1

2

π

5

(n ± ) , n ∈ Z
1

6

π

5

119. If , then .

A. 

B. 

C. 

D. 

tan θ + tan 2θ + √3 tan θ tan 2θ = √3 θ = +
nπ

3

π

9

(3n + 1) , n ∈ Z
π

9

(3n + 1) , n ∈ Z
π

6

(3n + 1) , n ∈ Z
π

3

(3n + 1) , n ∈ Z
π

18

https://dl.doubtnut.com/l/_RFK0VQco4awE
https://dl.doubtnut.com/l/_6Me3HhREYOwD


Answer: A

Watch Video Solution

120. In , the number of solutions of the equation 

 is/are

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(0, 6π)

tan θ + tan 2θ + tan 3θ = tan θ ⋅ tan 2θ ⋅ tan 3θ

, n ∈ Z
nπ

2

, n ∈ Z
nπ

3

, n ∈ Z
nπ

4

, n ∈ Z
nπ

6

121. The set of values of x for which  is= 1
tan 3x − tan 2x

1 + tan 3x tan 2x

https://dl.doubtnut.com/l/_6Me3HhREYOwD
https://dl.doubtnut.com/l/_yoOs94lfsD7x
https://dl.doubtnut.com/l/_TONKeVRv4v8j


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ϕ

{ }
π

4

{2nπ + , n = 1, 2, …}
π

4

{nπ + , n = 1, 2, …}
π

4

122. General solution of  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

4 sin2 x − 3 = 0

nπ ± , n ∈ Z
π

3

nπ ± , n ∈ Z
2π

3

nπ ± , n ∈ Z
4π
3

nπ ± , n ∈ Z
5π

3

https://dl.doubtnut.com/l/_TONKeVRv4v8j
https://dl.doubtnut.com/l/_6GvllN4DSikp


123. General solution of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

4 sin2 x = 1

nπ ± , n ∈ Z
5π

6

nπ ± , n ∈ Z
7π
6

nπ ± , n ∈ Z
π

6

nπ ± , n ∈ Z
11π

6

124. The general solution of the equation 

A. 

B. 

C. 

4 cos2 x + 6 sin2 x = 5

nπ ± , n ∈ Z
π

6

nπ ± , n ∈ Z
π

4

nπ ± , n ∈ Z
π

3

https://dl.doubtnut.com/l/_6GvllN4DSikp
https://dl.doubtnut.com/l/_tDVZufZT8lSE
https://dl.doubtnut.com/l/_IDoAYxE49DTg


D. 

Answer: B

Watch Video Solution

nπ ± , n ∈ Z
π

2

125. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sin 3α = 4 sinα sin(x + α)sin(x − α)

nπ ± , n ∈ Z
π

6

nπ ± , n ∈ Z
π

4

nπ ± , n ∈ Z
π

3

nπ ± , n ∈ Z
π

2

126. Find general solution of .4 cos2 x = 1

https://dl.doubtnut.com/l/_IDoAYxE49DTg
https://dl.doubtnut.com/l/_ggqqealw1h1x
https://dl.doubtnut.com/l/_iu3olN0xZpJb


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

nπ ± , n ∈ Z
4π
3

nπ ± , n ∈ Z
5π

3

nπ ± , n ∈ Z
π

3

nπ ± , n ∈ Z
2π

3

127. General solution of  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3 sec2 x = 4

nπ ± , n ∈ Z
π

6

nπ ± , n ∈ Z
5π

6

nπ ± , n ∈ Z
7π
6

nπ ± , n ∈ Z
11π

6

https://dl.doubtnut.com/l/_iu3olN0xZpJb
https://dl.doubtnut.com/l/_ahic875smIn8


128. The general solution of the equation  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

tan2 x = 1

nπ + , n ∈ Z
π

4

nπ − , n ∈ Z
π

4

nπ ± , n ∈ Z
π

4

2nπ ± , n ∈ Z
π

4

129. General solution of  is

A. 

B. 

C. 

2 tan2 x = sec2 x

nπ − , n ∈ Z
π

4

nπ + , n ∈ Z
π

4

nπ ± , n ∈ Z
π

4

https://dl.doubtnut.com/l/_ahic875smIn8
https://dl.doubtnut.com/l/_9qauJQ3vcILd
https://dl.doubtnut.com/l/_PmTu7WGuX5Uu


D. 

Answer: C

Watch Video Solution

2nπ ± , n ∈ Z
π

4

130. General solution of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

= 3
1 − cos 2x

1 + cos 2x

nπ ± , n ∈ Z
π

6

nπ ± , n ∈ Z
π

3

2nπ ± , n ∈ Z
π

6

2nπ ± , n ∈ Z
π

3

131. General solution of  is3(sec2 x + tan2 x) = 5

https://dl.doubtnut.com/l/_PmTu7WGuX5Uu
https://dl.doubtnut.com/l/_Xlnh24u2t1Jg
https://dl.doubtnut.com/l/_07C3gjThs8XW


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2nπ ± , n ∈ Z
π

3

2nπ ± , n ∈ Z
π

6

nπ ± , n ∈ Z
π

3

2nπ ± , n ∈ Z
π

3

132. General solution of  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

tan( + x) + tan( − x) = 4
π

4

π

4

nπ ± , n ∈ Z
π

6

nπ ± , n ∈ Z
π

4

nπ ± , n ∈ Z
π

3

nπ ± , n ∈ Z
π

2

https://dl.doubtnut.com/l/_07C3gjThs8XW
https://dl.doubtnut.com/l/_A913Z8b98E7Q


133. General solution of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

tan2 x + sec 2x = 1

nπ, nπ ± , n ∈ Z
π

4

nπ, nπ ± , n ∈ Z
2π

3

nπ, nπ ± , n ∈ Z
π

3

nπ, nπ ± , n ∈ Z
π

6

134. Find the general solution of : 

A. 

B. 

cos x + sinx = 1

2nπ, 2nπ −
π

2

2nπ, 2nπ +
π

2

https://dl.doubtnut.com/l/_A913Z8b98E7Q
https://dl.doubtnut.com/l/_q0OHb1IiePj8
https://dl.doubtnut.com/l/_2RFSpV8xFG4p


C. 

D. 

Answer: B

Watch Video Solution

2nπ, 2nπ −
π

4

2nπ, 2nπ +
π

4

135. Find the general solution of : 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

cos x + sinx = 1

nπ + ( − 1)n − , n ∈ Z
π

4

π

4

nπ + ( − 1)n + , n ∈ Z
π

4

π

4

nπ + ( − 1)n − , n ∈ Z
π

3

π

4

nπ + ( − 1)n − , n ∈ Z
π

6

π

4

https://dl.doubtnut.com/l/_2RFSpV8xFG4p
https://dl.doubtnut.com/l/_L2Ahk8d5Evfy
https://dl.doubtnut.com/l/_ip8BnhyZ2cQv


136. General solution of  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

cos x − sinx = 1

2nπ, 2nπ − , n ∈ Z
π

2

2nπ, 2nπ + , n ∈ Z
π

2

2nπ, 2nπ − , n ∈ Z
π

4

2nπ, 2nπ + , n ∈ Z
π

4

137. Find the general solution of : 

A. 

B. 

C. 

D. 

cos x − sinx = − 1

2nπ + , 2nπ − π, n ∈ Z
π

4

2nπ − , 2nπ + π, n ∈ Z
π

2

2nπ + , 2nπ − π, n ∈ Z
π

2

2nπ + , 2nπ − π, n ∈ Z
π

4

https://dl.doubtnut.com/l/_ip8BnhyZ2cQv
https://dl.doubtnut.com/l/_fwluy9DsY9gu


Answer: C

Watch Video Solution

138. Find the general solution of : 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

√3 cos x − sinx = 1

2nπ + , 2nπ + , n ∈ Z
π

6

π

2

2nπ − , 2nπ − , n ∈ Z
π

6

π

2

2nπ + , 2nπ − , n ∈ Z
π

6

π

2

2nπ − , 2nπ + , n ∈ Z
π

6

π

2

139. General solution of  is√3 cos x + sinx = √2

https://dl.doubtnut.com/l/_fwluy9DsY9gu
https://dl.doubtnut.com/l/_EkACxasPSeAT
https://dl.doubtnut.com/l/_bogAlEQstDuA


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

nπ + ( − 1)n − , n ∈ Z
π

4

π

6

nπ + ( − 1)n + , n ∈ Z
π

4

π

6

nπ + ( − 1)n − , n ∈ Z
π

4

π

3

nπ + ( − 1)n + , n ∈ Z
π

4

π

3

140. General solution of  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

sinx + cos x = √2 cosα

2nπ ± α + , n ∈ Z
π

3

2nπ ± α − , n ∈ Z
π

4

2nπ ± α + , n ∈ Z
π

6

2nπ ± α + , n ∈ Z
π

4

https://dl.doubtnut.com/l/_bogAlEQstDuA
https://dl.doubtnut.com/l/_3RYkB6FUOGrm


141. General solution of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

√2 secx + tanx = 1

2nπ + , n ∈ Z
π

4

2nπ − , n ∈ Z
π

4

2nπ + , n ∈ Z
π

8

2nπ − , n ∈ Z
π

8

142. General solution of  is

A. 

B. 

C. 

√2 cos ecx + cot x = √3

2nπ + ± , n ∈ Z
π

6

3π

4

2nπ − ± , n ∈ Z
π

6

3π

4

2nπ + ± , n ∈ Z
π

3

3π

4

https://dl.doubtnut.com/l/_3RYkB6FUOGrm
https://dl.doubtnut.com/l/_cZI0y0UHsn4n
https://dl.doubtnut.com/l/_334Ay8dxRTt0


D. 

Answer: D

Watch Video Solution

2nπ − ± , n ∈ Z
π

3

3π

4

143. find the general solution of the equation

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(√3 − 1)sin θ + (√3 + 1)cos θ = 2

2nπ ± − , n ∈ Z
π

4

π

12

2nπ ± − , n ∈ Z
π

12

π

4

2nπ ± + , n ∈ Z
π

4

π

12

2nπ ± + , n ∈ Z
π

12

π

4

https://dl.doubtnut.com/l/_334Ay8dxRTt0
https://dl.doubtnut.com/l/_E2fV26vyPPAH


144. General solution of  is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

sin3 x + cos2 x + sinx cos x = 1

nπ, nπ ± , n ∈ Z
π

2

2nπ, 2nπ ± , n ∈ Z
π

2

nπ, nπ ± , n ∈ Z
π

4

2nπ, 2nπ ± , n ∈ Z
π

4

145. (i)  

(ii)  

(iii) 

A. 

B. 

C. 

cos 3x = cos 2x

cos 5x = sin 3x

cosmx = sinnx

+ , nπ − , n ∈ Z
nπ

4

π

16

π

4

− , nπ + , n ∈ Z
nπ

4

π

16

π

4

− , nπ − , n ∈ Z
nπ

4

π

4

π

16

https://dl.doubtnut.com/l/_oJOr38ig7uLz
https://dl.doubtnut.com/l/_2uymKi9CrQjG


D. 

Answer: A

Watch Video Solution

− , nπ + , n ∈ Z
nπ

4

π

4

π

16

146. Find the general solution for each of the following equations : 

(i)  

(ii)  

(iii)  

(iv) 

A. 

B. 

C. 

D. 

Answer: D

W t h Vid S l ti

cos 4x = cos 2x

cos 3x = sin 2x

sin 3x + cos 2x = 0

sinmx + sinnx = 0

− , 2nπ + , n ∈ Z
2nπ

5

π

10

π

2

− , 2nπ + , n ∈ Z
2nπ

5

π

2

π

10

+ , 2nπ − , n ∈ Z
2nπ

5

π

2

π

10

+ , 2nπ − , n ∈ Z
2nπ

5

π

10

π

2

https://dl.doubtnut.com/l/_2uymKi9CrQjG
https://dl.doubtnut.com/l/_vns6ytDmUzQz


Watch Video Solution

147. Find the general solution for each of the following equations : 

(i)  

(ii)  

(iii)  

(iv) 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

cos 4x = cos 2x

cos 3x = sin 2x

sin 3x + cos 2x = 0

sinmx + sinnx = 0

, ( )π, k ∈ Z
kπ

m + n

2k − 1
m − n

, ( )π, k ∈ Z
kπ

m − n

2k − 1
m + n

, ( )π, k ∈ Z
2kπ

m + n

2k − 1
m − n

, ( )π, k ∈ Z
2kπ

m − n

2k − 1
m + n

148. General solution of  iscos 3x = cos 2x

https://dl.doubtnut.com/l/_vns6ytDmUzQz
https://dl.doubtnut.com/l/_DaHOjbDRmdna
https://dl.doubtnut.com/l/_lmcg5PICD7Mq


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

nπ, , n ∈ Z
nπ

5

2nπ, , n ∈ Z
2nπ

5

nπ, , n ∈ Z
2nπ

5

2nπ, , n ∈ Z
nπ

5

149. Find the general solution : 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

cos 4x = cos 2x

2nπ, , n ∈ Z
nπ

3

nπ, , n ∈ Z
2nπ

3

2nπ, , n ∈ Z
2nπ

3

nπ, , n ∈ Z
nπ

3

https://dl.doubtnut.com/l/_lmcg5PICD7Mq
https://dl.doubtnut.com/l/_T9l0KJnVKX1S


150. Find the most general solution of the following 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

sec 4x − sec 2x = 2

(2n + 1) , (2n + 1) , n ∈ Z
π

10

π

2

(2n + 1) , (2n + 1) , n ∈ Z
π

10

π

5

(2n + 1) , (2n + 1) , n ∈ Z
π

15

π

5

(2n + 1) , (2n + 1) , n ∈ Z
π

6

π

3

151. 

A. 

B. 

C. 

sinx + sin 3x + sin 5x = 0

, nπ ± , n ∈ Z
nπ

3

2π

3

, nπ ± , n ∈ Z
nπ

3

π

3

, 2nπ ± , n ∈ Z
nπ

3

π

3

https://dl.doubtnut.com/l/_T9l0KJnVKX1S
https://dl.doubtnut.com/l/_79OczEnpMQle
https://dl.doubtnut.com/l/_aiB4XmLI7rW4


D. 

Answer: B

Watch Video Solution

, 2nπ ± , n ∈ Z
nπ

3

2π

3

152. Find the general solution of the equation

.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

sin 2x + sin 4x + sin 6x = 0

, nπ ± , n ∈ Z
nπ

2

2π

3

, nπ ± , n ∈ Z
nπ

2

π

3

, nπ ± , n ∈ Z
nπ

4

2π

3

, nπ ± , n ∈ Z
nπ

4

π

3

https://dl.doubtnut.com/l/_aiB4XmLI7rW4
https://dl.doubtnut.com/l/_SPN1XT3QqhAf


153. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

4 sinx cos x + 2 sinx + 2 cos x + 1 = 0

nπ + ( − 1)n , 2nπ ± , n ∈ Z
11π

6

2π

3

nπ + ( − 1)n , nπ ± , n ∈ Z
7π
6

π

3

nπ + ( − 1)n , 2nπ ± , n ∈ Z
7π
6

4π
3

nπ + ( − 1)n , 2nπ ± , n ∈ Z
11π

6
4π
3

154. Find the general solution : 

A. 

B. 

C. 

D. 

cos 3x + cos x cos 2x = 0

2nπ ± , 2nπ ± , n ∈ Z
π

2

2π

3

2nπ ± , nπ ± , n ∈ Z
π

2

2π

3

nπ ± , 2nπ ± , n ∈ Z
π

4

2π

3

nπ ± , nπ ± , n ∈ Z
π

4

π

3

https://dl.doubtnut.com/l/_jLQlM6aYIyfw
https://dl.doubtnut.com/l/_0qrVqSYZ5QZo


Answer: C

Watch Video Solution

155. General solution of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sin 2x + sin 4x = sin 3x

, 2nπ ± , n ∈ Z
nπ

6

π

3

, 2nπ ± , n ∈ Z
nπ

3

π

3

, 2nπ ± , n ∈ Z
nπ

3

π

6

, 2nπ ± , n ∈ Z
nπ

6

π

6

156. General solution of  is

A. 

cos 7x = cos x − sin 4x

, + ( − 1)n , n ∈ Z
nπ

4
nπ

3

π

18

https://dl.doubtnut.com/l/_0qrVqSYZ5QZo
https://dl.doubtnut.com/l/_OfBwyjH6axv7
https://dl.doubtnut.com/l/_okfuUhHO8WqC


B. 

C. 

D. 

Answer: A

Watch Video Solution

, + ( − 1)n , n ∈ Z
nπ

3
nπ

4

π

18

, + ( − 1)n , n ∈ Z
nπ

4
nπ

3

π

6

, ± ( − 1)n , n ∈ Z
nπ

4
nπ

3

π

18

157. General solution of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

cos 2x = √2(cos x − sinx)

nπ + , 2nπ + , n ∈ Z
π

2

π

4

nπ + , 2nπ + , n ∈ Z
π

4

π

4

nπ + , 2nπ + , n ∈ Z
π

4

π

2

nπ + , 2nπ + , n ∈ Z
π

2

π

2

https://dl.doubtnut.com/l/_okfuUhHO8WqC
https://dl.doubtnut.com/l/_s9LvZ1PcMTjb


158. Find the general solution of 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

sinx = tanx

nπ, 2nπ, n ∈ Z

nπ, 3nπ, n ∈ Z

2nπ, 3nπ, n ∈ Z

2nπ, 4nπ, n ∈ Z

159. 

A. 

B. 

C. 

D. 

sinx tanx − 1 = tanx − sinx

2nπ ± , nπ + ( − 1)n , n ∈ Z
3π

4

π

2

nπ ± , nπ + ( − 1)n , n ∈ Z
3π

4

π

2

2nπ + , nπ + ( − 1)n , n ∈ Z
π

4

π

2

nπ + , nπ + ( − 1)n , n ∈ Z
π

4

π

2

https://dl.doubtnut.com/l/_unDheUTAXXma
https://dl.doubtnut.com/l/_OF90xHdtjBFW


Answer: B

Watch Video Solution

160. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

tanx + tan 2x = tan 3x

nπ, , n ∈ Z
nπ

4

nπ, , n ∈ Z
nπ

2

nπ, , n ∈ Z
nπ

3

nπ, , n ∈ Z
nπ

6

161. tanx + tan2x + tan3x = 0

A. , nπ ± tan− 1( ), n ∈ Z
nπ

2

1

2

https://dl.doubtnut.com/l/_OF90xHdtjBFW
https://dl.doubtnut.com/l/_GinO8gMjoOHA
https://dl.doubtnut.com/l/_SSqbXJd3AViu


B. 

C. 

D. 

Answer: D

Watch Video Solution

, nπ ± tan− 1( ), n ∈ Z
nπ

2

1

√2

, nπ ± tan− 1( ), n ∈ Z
nπ

3

1

2

, nπ ± tan− 1( ), n ∈ Z
nπ

3

1

√2

162. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

tan3 x − 3 tanx = 0

nπ, nπ ± , n ∈ Z
2π

3

2nπ, 2nπ ± , n ∈ Z
2π

3

nπ, nπ ± , n ∈ Z
π

3

nπ, 2nπ ± , n ∈ Z
π

3

https://dl.doubtnut.com/l/_SSqbXJd3AViu
https://dl.doubtnut.com/l/_IDqKjH9XMXOE


163. Find the general solution : 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sec2 2x = 1 − tan 2x

nπ, + , n ∈ Z
nπ

2

3π

8

, + , n ∈ Z
nπ

2
nπ

2

3π

8

, nπ + , n ∈ Z
nπ

2

3π

8

nπ, nπ + , n ∈ Z
3π

8

164. Find the general solution of : 

.

A. 

B. 

C. 

2 tanx − cot x + 1 = 0

nπ + , nπ + tan− 1( ), n ∈ Z
3π

4

1

2

nπ + , nπ + tan− 1( ), n ∈ Z
7π
4

1

2

nπ + , nπ − tan− 1( ), n ∈ Z
3π

4

1

2

https://dl.doubtnut.com/l/_eUvGw09Xz1IH
https://dl.doubtnut.com/l/_UTVeqt5bCXXy


D. 

Answer: A

Watch Video Solution

nπ + , nπ − tan− 1( ), n ∈ Z
7π
4

1

2

165. General solution of  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

cot2 x − tan2 x = 4 cot 2x

nπ ± , n ∈ Z
π

3

nπ ± , n ∈ Z
π

2

nπ ± , n ∈ Z
π

6

nπ ± , n ∈ Z
π

4

https://dl.doubtnut.com/l/_UTVeqt5bCXXy
https://dl.doubtnut.com/l/_tMvFBHEGvHaU


166. If , then the general value of

theta is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

tan2 θ − (1 + √3)tan θ + √3 = 0

nπ + , nπ + , n ∈ Z
π

4

π

3

nπ + , nπ + , n ∈ Z
5π

4

π

3

2nπ + , nπ + , n ∈ Z
π

4

π

3

nπ + , 2nπ + , n ∈ Z
π

4

π

3

167. The most general values of x satisfying the equation

 is

A. 

B. 

C. 

sinx = sinα and cos θ = cosα

nπ − α, n ∈ Z

nπ + α, n ∈ Z

2nπ − α, n ∈ Z

https://dl.doubtnut.com/l/_dlPxNgKvwrzl
https://dl.doubtnut.com/l/_Go3u18lRv3Ku


D. 

Answer: D

Watch Video Solution

2nπ + α, n ∈ Z

168. The most general value of  satisfying both the equations

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

θ

sin θ = : tan θ =
1

2

1

√3

nπ + ( − 1)
n

, n ∈ Z
π

6

2nπ + , n ∈ Z
7π

6

nπ − , n ∈ Z
π

6

2nπ ± , n ∈ Z
π

6

https://dl.doubtnut.com/l/_Go3u18lRv3Ku
https://dl.doubtnut.com/l/_jxequ65k4mIZ


169. Find the most general value of  satisfyingn the equation

.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

θ

tan θ = − 1 and cos θ =
1

√2

nπ + , n ∈ Z
7π

4

nπ + ( − 1)
n

, n ∈ Z
7π

4

2nπ + , n ∈ Z
7π

4

2nπ + ( − 1)
n

, n ∈ Z
7π

4

170. Find common roots of the equations

A. 

B. 

2 sin2 x + sin2 2x = 2and sin 2x + cos 2x = tanx.

x = (2n + 1) , n ∈ Z
π

4

x = (2n + 1) , n ∈ Z
π

6

https://dl.doubtnut.com/l/_r2KaQ5J9CvCH
https://dl.doubtnut.com/l/_Bhl8Yk9AfIcV


C. 

D. 

Answer: A

Watch Video Solution

x = (2n + 1) , n ∈ Z
π

3

x = (2n + 1) , n ∈ Z
π

2

171. The cartesian co-ordinates of point, which polar co-cordinats=es are

 are

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(2, )
π

4

(√2, √2)

(2, 2)

( , )
1

√2

1

√2

( , )
1

2

1

2

https://dl.doubtnut.com/l/_Bhl8Yk9AfIcV
https://dl.doubtnut.com/l/_DVeO0FkXIFqh
https://dl.doubtnut.com/l/_1ZqRhmZ41G39


172. The cartesian co-ordinates of point, whose polar co-ordinates are

 are

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(√2, )
π

4

(1, − 1)

( − 1, 0)

(1, 1)

(√2, √2)

173. The cartesian co-ordinates of a point, whose polar co-ordinates are

 are

A. 

B. 

C. 

(4, )
π

2

(0, 2)

(0, 4)

(2, 0)

https://dl.doubtnut.com/l/_1ZqRhmZ41G39
https://dl.doubtnut.com/l/_RDnEXP42vVkt


D. 

Answer: B

Watch Video Solution

(4, 0)

174. The cartesian co-ordinates of a point, whose polar co-ordinates are

 are

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

( , 135∘)
3

4

( , )
−3

4√2

−3

4√2

( , )
3

4√2

3

4√2

( , )
−3

4√2

3

4√2

( , )
3

4√2

−3

4√2

https://dl.doubtnut.com/l/_RDnEXP42vVkt
https://dl.doubtnut.com/l/_syo3uJvnXxnN


175. The cartesian co-ordinates of a point, whose polar co-ordinates are

 are

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

( , 210∘)
1

2

( , )
−√3

4

1

4

( , )
√3

4

−1

4

( , )
−√3

4

−1

4

( , )
√3

4

1

4

176. The polar co-ordinates of the point whose cartesian co-ordinates are

, are

A. 

B. 

(1, √3)

(2, , − )
π

3

(2, )
π

3

https://dl.doubtnut.com/l/_6zPpZykYmyMn
https://dl.doubtnut.com/l/_ZQRZA3zLkXg8


C. 

D. 

Answer: B

Watch Video Solution

(2, )
4π
3

(2, )
2π

3

177. The polar co-ordinates of the point whose cartesian co-ordinates are

, are

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(√2, √2)

(2, )
7π
4

(2, )
5π

4

(2, )
3π

4

(2, )
π

4

https://dl.doubtnut.com/l/_ZQRZA3zLkXg8
https://dl.doubtnut.com/l/_xV01PSqb4XXJ
https://dl.doubtnut.com/l/_GiteXThBIuaB


178. The polar co-ordinates of the point whose cartesian co-ordinates are

, are

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

( , )
3

2

3√3

2

(3, )
π

3

(3, )
2π

3

(3, )
4π
3

(3, )
5π

3

179. The polar co-ordinates of the point whose cartesian co-ordinates are

, are

A. 

B. 

( , )
1

√2

−1

√2

(1, )
7π
4

(1, )
3π

4

https://dl.doubtnut.com/l/_GiteXThBIuaB
https://dl.doubtnut.com/l/_zka6zaLxP7Sq


C. 

D. 

Answer: A

Watch Video Solution

(1, )
5π

4

(1, )
π

4

180. If  are cartesian co-ordinates off the point, then its

polar co-ordinates are . . .

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

( − √2, √2)

(2, )
7π
4

(2, )
5π

4

(2, )
3π

4

(2, )
π

4

https://dl.doubtnut.com/l/_zka6zaLxP7Sq
https://dl.doubtnut.com/l/_5Ky41NCcn1GG
https://dl.doubtnut.com/l/_KgXBAJiswksl


181. The polar coordinates of the point whose cartesian coodinates are 

 are

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

( − , − )
1

√2

1

√2

(1, )
π

4

(1, )
3π

4

(1, )
7π
4

(1, )
5π

4

182. The polar co-ordinates of the point whose cartesian co-ordinates are

, are

A. 

B. 

(5, 0)

( − 5, 0)

( − 5, π)

https://dl.doubtnut.com/l/_KgXBAJiswksl
https://dl.doubtnut.com/l/_SkNrmqUKw0Wt


C. 

D. 

Answer: C

Watch Video Solution

(5, 0)

(5, π)

183. The polar co-ordinates of the point whose cartesian co-ordinates are

, are

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

( − 3, 0)

( − 3, π)

(3, π)

( − 3, )
π

2

(3, )
π

2

https://dl.doubtnut.com/l/_SkNrmqUKw0Wt
https://dl.doubtnut.com/l/_CBD5gs71dpLX
https://dl.doubtnut.com/l/_LIn4XqxpT4P4


184. The polar co-ordinates of the point whose cartesian co-ordinates are

, are

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(0, )
1

2

(2, )
π

2

(2, )
3π

2

( , )
1

2

π

2

( , )
1

2

3π

2

185. The polar co-ordinates of the point whose cartesian co-ordinates are

, are

A. 

B. 

C. 

(0, − 2)

( − 2, )
π

2

( − 2, )
3π

2

(2, )
π

2

https://dl.doubtnut.com/l/_LIn4XqxpT4P4
https://dl.doubtnut.com/l/_8nwzYqOqpRuL


D. 

Answer: D

Watch Video Solution

(2, )
3π

2

186. In 
if 
then find 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ABC, = (a + b + c)(a − b + c) = 3ac, ∠B.

∠B = 30∘

∠B = 60∘

∠B = 100∘

∠B = 90∘

187. In  , if a=2,b=3 and , then △ ABC sinA =
2

3
∠B =

https://dl.doubtnut.com/l/_8nwzYqOqpRuL
https://dl.doubtnut.com/l/_idZk79FgjKqC
https://dl.doubtnut.com/l/_GhScSfGtUQSp


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

30∘

45∘

60∘

90∘

188. The sides of a right angled triangle arein , then they are in the

ratio

A. 

B. 

C. 

D. 

Answer: C

A. P .

1: 2: 3

2: 3: 4

3: 4: 5

4: 5: 6

https://dl.doubtnut.com/l/_GhScSfGtUQSp
https://dl.doubtnut.com/l/_EVWQYDUZDDp8


Watch Video Solution

189. In , if , then =

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

△ ABC ∠A = 45∘ , ∠B = 60∘ , ∠C = 75∘ a : b : c

3: √6: √3 + 1

√6: 3: √3 + 1

2: √6: √3 + 1

√6: 2: √3 + 1

190. The sides of a triangle are in the ratio  Then the angles are

in the ratio

A. 

B. 

1: √3: 2.

1: √2: 3

1: √3: 2

https://dl.doubtnut.com/l/_EVWQYDUZDDp8
https://dl.doubtnut.com/l/_6ODm3A3lYXv3
https://dl.doubtnut.com/l/_5s7Q81GY90Qv


C. 

D. 

Answer: B

Watch Video Solution

√2: √3: 3

1: √3: 3

191. The ratio of the sides of a triangle ABC is . The ratio

is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1: √3: 2 A :B :C

3: √2: 1

1: √3: 2

3: 5: 2

1: 2: 3

https://dl.doubtnut.com/l/_5s7Q81GY90Qv
https://dl.doubtnut.com/l/_KNC69BFzE2y2
https://dl.doubtnut.com/l/_cT8cN5MX7N0J


192. If the angles of a triangle are in the ratio  then the angle

greatest angle is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1: 3: 5

5π

9

2π

9

7π
9

11π

9

193. In , if  then =

A. 

B. 

C. 

D. 

△ ABC ∠C = 90∘ tanA + tanB

a2

bc

b2

ca

c2

ab

a + b

https://dl.doubtnut.com/l/_cT8cN5MX7N0J
https://dl.doubtnut.com/l/_G68C7eA9Vk7W


Answer: C

Watch Video Solution

194. In , if , then the triangle is

A. a right angled

B. an isosceles

C. an equilateral

D. a scalene

Answer: A

Watch Video Solution

△ ABC cosA = sinB − cosC

195. In , If , then the

triangle is

△ ABC a = √3 + 1, b = √3 + 1, ∠C = 60∘

https://dl.doubtnut.com/l/_G68C7eA9Vk7W
https://dl.doubtnut.com/l/_mVqwNUtlucQQ
https://dl.doubtnut.com/l/_Wr33PDpKH9vc


A. isosceles

B. equilateral

C. right angled

D. right angled isosceles

Answer: B

Watch Video Solution

196. In , If , then the triangle is

A. isosceles

B. right angled

C. equilateral

D. a scalene

Answer: C

Watch Video Solution

△ ABC cosA + cosB + cosC =
3

2

https://dl.doubtnut.com/l/_Wr33PDpKH9vc
https://dl.doubtnut.com/l/_KjYh0Km3nNtc


197. If , then  is

A. equilateral

B. isosceles

C. right angled

D. right angled isosceles

Answer: D

Watch Video Solution

cos2 A + cos2 B + cos2 C = 1 △ ABC

198. In , If the angles are in A.P., and , then 

 are

A. 

B. 

△ ABC b : c = √3: √2

∠A, ∠B, ∠C

30∘ , 60∘ , 90∘

50∘ , 60∘ , 70∘

https://dl.doubtnut.com/l/_KjYh0Km3nNtc
https://dl.doubtnut.com/l/_sokd1KW0PI8a
https://dl.doubtnut.com/l/_ZUAfznQW1EHz


C. 

D. 

Answer: C

Watch Video Solution

75∘ , 60∘ , 45∘

15∘ , 60∘ , 105∘

199. In , If , then a=

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

△ ABC ∠A = 25∘ , ∠B = 85∘ and c = 3, 4

3.0604

3.604

1.0529

1.529

https://dl.doubtnut.com/l/_ZUAfznQW1EHz
https://dl.doubtnut.com/l/_3DaETKMufYje


200. In , If , then b=

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

△ ABC ∠A = 25∘ , ∠B = 85∘ and c = 3, 4

3.0604

3.604

1.0529

1.529

201. In , if , then b=

A. 

B. 

C. 

D. 

△ ABC a = 72, ∠B = 108∘ , ∠A = 25∘

162.04

162.14

124.61

124.16

https://dl.doubtnut.com/l/_wQb76mUXA4Tc
https://dl.doubtnut.com/l/_LB7fSYD9L1Ck


Answer: A

Watch Video Solution

202. In , if , then c=

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

△ ABC a = 72, ∠B = 108∘ , ∠A = 25∘

162.04

162.14

124.61

124.16

203. In , if , then c=

A. 

△ ABC a = √3 + 1, b = √3 − 1 and ∠C = 60∘

√6

https://dl.doubtnut.com/l/_LB7fSYD9L1Ck
https://dl.doubtnut.com/l/_N1dF053irq05
https://dl.doubtnut.com/l/_nyutK8YAudYc


B. 

C. 

D. 

Answer: A

Watch Video Solution

−√6

2

4

204. In , if , then 

=

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

△ ABC a = √3 + 1, b = √3 − 1 and ∠C = 60∘ ∠A

45∘

105∘

15∘

60∘

https://dl.doubtnut.com/l/_nyutK8YAudYc
https://dl.doubtnut.com/l/_EFndm9Ew8R3q


205. In , if , then 

=

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

△ ABC a = √3 + 1, b = √3 − 1 and ∠C = 60∘ ∠B

45∘

105∘

15∘

60∘

206. If , then the ratio of sides of

triangle is

A. 

B. 

cosA = , cosB = , cosC =
3

5

5

13
4
5

4: 5: 3

19: 13: 15

https://dl.doubtnut.com/l/_EFndm9Ew8R3q
https://dl.doubtnut.com/l/_6dznIJ0Oujfa
https://dl.doubtnut.com/l/_Fw8NBd5nqiDv


C. 

D. 

Answer: D

Watch Video Solution

13: 60: 3

52: 60: 39

207. The angles of a triangle 
are in 
and it is being given that 


, find 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ABC A
.
P .

b : c = √3: √2 ∠A.

30∘

45∘

60∘

75∘

https://dl.doubtnut.com/l/_Fw8NBd5nqiDv
https://dl.doubtnut.com/l/_YfpiqAHscMHX
https://dl.doubtnut.com/l/_QDRJGJ4FX0ih


208. In a triangle  how many such

triangles are possible.

A. 

B. 

C. 

D. Infinite

Answer: A

Watch Video Solution

ABC, a = 5, b = 7 and sinA =
3

4

0

1

2

209. In , if  then the triangle is

A. an equilateral

B. an isosceles

C. a right angled

D. a scalene

△ ABC c2 sinA sinB = ab,

https://dl.doubtnut.com/l/_QDRJGJ4FX0ih
https://dl.doubtnut.com/l/_FKWV8xKn7zK7


Answer: C

Watch Video Solution

210. In triangle ABC, if , then the triangle is

A. an equilateral

B. an isosceles

C. a right angled

D. a scalene

Answer: C

Watch Video Solution

sin2 A + sin2 B = sin2 C

211. In a right angled triangle ABC, write the value of

sin2 A + sin2 B + sin2 C

https://dl.doubtnut.com/l/_FKWV8xKn7zK7
https://dl.doubtnut.com/l/_GyhFNVcfxPoU
https://dl.doubtnut.com/l/_bJd6m1qpTuZM


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2

1

−1

0

212. In

A. 

B. 

C. 

D. 

Answer: A

△ ABC, a(sinB − sinC) + b(sinC − sinA) + c(sinA − sinB) =

0

abc

a + b + c

2abc

https://dl.doubtnut.com/l/_bJd6m1qpTuZM
https://dl.doubtnut.com/l/_b5ghDxJ2OgOL


Watch Video Solution

213. In 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

△ ABC, − =
cos 2A

a2

cos 2B

b2

b2 − a2

a2 − b2

−
1

b2

1

a2

−
1

a2

1

b2

214. 

.

A. 

a2(cos2 B − cos2 C) + b2(cos2 C − cos2 A) + c2(cos2 A − cos2 B) = 0

a2c2 − a2b2

https://dl.doubtnut.com/l/_b5ghDxJ2OgOL
https://dl.doubtnut.com/l/_9vbKLtHqR3Gn
https://dl.doubtnut.com/l/_nPG6zVbZrbAY


B. 

C. 

D. 

Answer: D

Watch Video Solution

a2b2 − b2c2

b2c2 − a2c2

0

215. In  =

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

△ ABC,
sinB

sin(A + B)

b

a + b

b

c

−b

c

c

b

https://dl.doubtnut.com/l/_nPG6zVbZrbAY
https://dl.doubtnut.com/l/_Ix1JuXIQVnX4


216. In any , prove that 

.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ΔABC

a sin(B − C) + b sin(C − A) + c sin(A − B) = 0

0

a + b + c

a2 + b2 + c2

2(a2 + b2 + c2)

217. 

A. 

B. 

C. 

lnΔABC, b2 cos 2A − a2 cos 2B =

0

a2 + b2

a2 − b2

https://dl.doubtnut.com/l/_kewLuS4t9v5b
https://dl.doubtnut.com/l/_reSohWFH3py4


D. 

Answer: D

Watch Video Solution

b2 − a2

218. In 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

△ ABC, =
cos( )B−C

2

sin( )A

2

b − c

a

b + c

a

a

b − c

a

b + c

https://dl.doubtnut.com/l/_reSohWFH3py4
https://dl.doubtnut.com/l/_TVIXB0UF8R7x


219. In , if , then

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

△ ABC a sinA = b sinB

a + b = c

a > b

a < b

a = b

220. In any , prove that 


Watch Video Solution

ΔABC

a sinA − sinB = sin(A − B)

221. In , if  then △ ABC ∠C = ,
π

2
=

a2 − b2

a2 + b2

https://dl.doubtnut.com/l/_3ARjEUMRyNrE
https://dl.doubtnut.com/l/_2xGCqvDkSkrg
https://dl.doubtnut.com/l/_4KE6qjY5dkhB


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

−2 sin(A − B)

2 sin(A − B)

−sin(A − B)

sin(A − B)

222. In , if  then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

△ ABC ∠C = ,
π

2
c − c sinA tan( ) =

A

2

a

b

c

a + b

https://dl.doubtnut.com/l/_4KE6qjY5dkhB
https://dl.doubtnut.com/l/_oGTOLMFJxlHS


Watch Video Solution

223. For any triangle ABC, If , show that

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

B = 3C

cosC = √ and =
b + c

4c

sinA

2

b − c

2c

sinC

cosC

cot C

tanC

224. In any triangle 
 , prove that following: 

A. 

ABC

  + + = 0
cos2 B − cos2 C

b + c

cos2 C − cos2 A

c + a

cos2 A − cos2 B

a + b

cos2 B − cos2 A

a + b

https://dl.doubtnut.com/l/_oGTOLMFJxlHS
https://dl.doubtnut.com/l/_wwriUefwUSMA
https://dl.doubtnut.com/l/_sUYc5F25DJUp


B. 

C. 

D. 

Answer: A

Watch Video Solution

cos2 A − cos2 B

a + b

cos2 B − cos2 A

b − a

cos2 A − cos2 B

a − b

225. In 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

△ ABC, sin( ) =
B − C

2

2( )cos( )
b − c

a

A

2

( )cos( )
b − c

a

A

2

2( )cos( )
c − b

a

A

2

( )cos( )
c − b

a

A

2

https://dl.doubtnut.com/l/_sUYc5F25DJUp
https://dl.doubtnut.com/l/_wuc5P0h3bZpg


226. In 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

△ ABC, cos( ) =
A − B

2

( )sin( )
a + b

c

C

2

( )sin( )
a + b

2c
C

2

( )cos( )
a + b

c

C

2

( )cos( )
a + b

2c
C

2

227. In 

A. 

B. 

C. 

D. 

△ ABC, a(cosB + sinB cot( )) =
A

2

a + b + c

c + a

a + b

b + c

https://dl.doubtnut.com/l/_E4M5vYQxsVDh
https://dl.doubtnut.com/l/_ox6q4hBHjrzq


Answer: D

View Text Solution

228. In 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

△ ABC, =
a − b

a + b

cot( )cot( )
A − B

2
A + B

2

tan( )cot( )
A − B

2
A + B

2

cot( )tan( )
A − B

2
A + B

2

tan( )tan( )
A − B

2
A + B

2

229. In  if , then 

A. 

△ ABC, a = 2, b = 1, c = √3 ∠A =

90∘

https://dl.doubtnut.com/l/_ox6q4hBHjrzq
https://dl.doubtnut.com/l/_J30Gk42EgrLt
https://dl.doubtnut.com/l/_9oy172aV8MgC


B. 

C. 

D. 

Answer: A

Watch Video Solution

60∘

30∘

45∘

230. In  if , then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

△ ABC, a = 2, b = 1, c = √3 ∠B =

90∘

60∘

30∘

45∘

https://dl.doubtnut.com/l/_9oy172aV8MgC
https://dl.doubtnut.com/l/_3LHVPPUuMpoG


231. In  if , then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

△ ABC, a = 2, b = 1, c = √3 ∠C =

90∘

60∘

30∘

45∘

232. In , if , then 

A. 

B. 

C. 

D. 

△ ABC a2 + c2 − b2 = ac ∠B =

30∘

45∘

60∘

90∘

https://dl.doubtnut.com/l/_Wt6qXdnwmpCF
https://dl.doubtnut.com/l/_CSkRrPeyCLOi


Answer: C

Watch Video Solution

233. In , if  then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

△ ABC a = 3, b = 4, c = 5, sin 2B =

3

5

4
5

24
25

12

25

234. In  If b=20, c=21 and sinA=(3)/(5)`, then a=

A. 

△ ABC,

13

https://dl.doubtnut.com/l/_CSkRrPeyCLOi
https://dl.doubtnut.com/l/_WzMRXKy7t7IM
https://dl.doubtnut.com/l/_41syEVB8WFA4


B. 

C. 

D. 

Answer: A

Watch Video Solution

14

15

16

235. If  satisfies  then

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

a = 9, b = 8 and c = x 3 cosC = 2,

4

5

6

7

https://dl.doubtnut.com/l/_41syEVB8WFA4
https://dl.doubtnut.com/l/_7qUotLhi1wiF


236. A triangle side are few  and  then the smallest

angle is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

7cm, 4√3cm √13cm

30∘

45∘

60∘

90∘

237. If the lengths of the sides of a triangle are , then its largest

angle of the triangle is

A. 

B. 

C. 

3, 5, 7

90∘

150∘

120∘

https://dl.doubtnut.com/l/_IwLhRarCkcm3
https://dl.doubtnut.com/l/_Rbc9L8nI0qgI


D. 

Answer: C

Watch Video Solution

135∘

238. If in , then  is

equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ΔABC, + + = +
2 cosA

a

cosB
b

2 cosC

c

a

bc

b

ca
∠A

30∘

45∘

60∘

90∘

https://dl.doubtnut.com/l/_Rbc9L8nI0qgI
https://dl.doubtnut.com/l/_4EyKozYXMQN4


239. In , If , then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

△ ABC = =
b + c

11
c + a

12
a + b

13
cosC =

5

7

7

5

16

17

17

16

240. In , If , then 

A. 

B. 

C. 

D. 

△ ABC + =
1

b + c

1

c + a

3

a + b + c
cosC =

1
2

−1
2

√3
2

1

√2

https://dl.doubtnut.com/l/_rtL2odlHWJ1P
https://dl.doubtnut.com/l/_7tvP9gNALbnU


Answer: A

Watch Video Solution

241. In any , prove that 


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ΔABC

a(b cosC − c cosB) = (b2 − c2)

c2 − b2

b2 − c2

2(c2 − b2)

2(b2 − c2)

242. In △ ABC, (a − b)2 cos2( ) + (a + b)2 sin2( )
C

2

C

2

https://dl.doubtnut.com/l/_7tvP9gNALbnU
https://dl.doubtnut.com/l/_uK6ttVd0F54q
https://dl.doubtnut.com/l/_7rGA5OgtrsrK


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

b2

c2

a2

a2 + b2 + c2

243. In 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

△ ABC, (b − c)2 cos2( ) + (b + c)2 sin2( )
A

2

A

2

b2

c2

a2

a2 + b2 + c2

https://dl.doubtnut.com/l/_7rGA5OgtrsrK
https://dl.doubtnut.com/l/_4EcYGklbhCl5


Watch Video Solution

244. In 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

△ ABC, 2(bc cosA + ac cosB + ab cosC) =

a + b + c

2(a + b + c)

a2 + b2 + c2

2(a2 + b2 + c2)

245. In 

A. 

B. 

C. 

△ ABC, 2(bc cosA − ac cosB − ab cosC) =

0

(a + b + c)

−3a2 + b2 + c2

https://dl.doubtnut.com/l/_4EcYGklbhCl5
https://dl.doubtnut.com/l/_Lmkkammv2TIi
https://dl.doubtnut.com/l/_Uxf6P3HbJ0W8


D. 

Answer: C

Watch Video Solution

2(a2 + b2 + c2)

246. In 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

△ ABC, a cosB − b cosA =

(a2 − b2)

b2 − c2

c2 − a2

a2 + b2 + c2

https://dl.doubtnut.com/l/_Uxf6P3HbJ0W8
https://dl.doubtnut.com/l/_D34FwlXMys8t


247. In a triangle ABC, the side a,b,c are such that they are the roots of

then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

+ + =
cosA

a

cosB
b

cosC

c

a2 + b2 − c2

4

a2 + b2 − c2

2

a2 + b2 + c2

2abc

a2 + b2 + c2

abc

248. In , 

A. 

B. 

C. 

△ ABC (b2 + c2 − a2)tanA =

2abc

abc

2bc sinA

https://dl.doubtnut.com/l/_1sbfjmv7qkPE
https://dl.doubtnut.com/l/_VONbaOdz5B3r


D. 

Answer: C

Watch Video Solution

bc sinA

249. In , 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

△ ABC (c2 + a2 − b2)tanB =

2ca sinB

ca sinB

2abc

abc

250. In , △ ABC (b2 + a2 − c2)tanC =

https://dl.doubtnut.com/l/_VONbaOdz5B3r
https://dl.doubtnut.com/l/_6WcvCkUILT4x
https://dl.doubtnut.com/l/_YZpZ7iZsRZAQ


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ab sinC

2ab sinC

abc

2abc

251. In a 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

△ ABC, 2ac. sin( ) =
A − B + C

2

a2 + b2 − c2

c2 + a2 − b2

b2 − c2 − a2

c2 − a2 − b2

https://dl.doubtnut.com/l/_YZpZ7iZsRZAQ
https://dl.doubtnut.com/l/_E5vA23kLgNk4


Watch Video Solution

252. If in , then  is equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ΔABC, 2b2 = a2 + c2 sin 3B

sinB

c2 − a2

ca

c2 − a2

2ca

( )
2

c2 − a2

ca

( )
2

c2 − a2

2ca

253. In , if , then the triangle is

A. an equilateral

B. a scalene

C. an right angled or an equilateral

△ ABC a cosA = b cosB

https://dl.doubtnut.com/l/_E5vA23kLgNk4
https://dl.doubtnut.com/l/_DGTi0dAsavvT
https://dl.doubtnut.com/l/_pbPkRdy9QMek


D. an right angled isosceles

Answer: D

Watch Video Solution

254.

A. an equilateral

B. an isosceles

C. a right angled

D. a scalene

Answer: B

Watch Video Solution

In a ΔABC, if = , show that the triangle is isosceles.
cosA

a

cosB
b

https://dl.doubtnut.com/l/_pbPkRdy9QMek
https://dl.doubtnut.com/l/_njQG8ZLf3fcj


255. In , with usual notations, if , then the triangle

is

A. a scalene

B. a right angled

C. an isosceles

D. an equilateral

Answer: b

Watch Video Solution

ΔABC cosA =
sinB

sinC

256. In any 
, prove that:


A. 

B. 

C. 

ABC 2{a + c } = a + c − b
sin2 C

2
sin2 A

2

a + b + c

b + c − a

a + c − b

https://dl.doubtnut.com/l/_ZaKfvVjceCFo
https://dl.doubtnut.com/l/_gcYaeDfkYcMy


D. 

Answer: C

Watch Video Solution

a + b − c

257. In 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

△ ABC, (b + c)cosA + (c + a)cosB + (a + b)cosC =

a + b + c

2(a + b + c)

a + b + c

2

a + b + c

4

https://dl.doubtnut.com/l/_gcYaeDfkYcMy
https://dl.doubtnut.com/l/_YIyyUqvmGN5o


258. In

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

△ ABC, a(b2 + c2)cosA + b(c2 + a2)cosB + c(a2 + b2)cosC =

0

3abc

3a2bc

3ab2c

259. In a , 


A. 

B. 

C. 

ΔABC

a(cos2 B + cos2 C) + cosA(osC + b cosB) =

a + b + c

c

b

https://dl.doubtnut.com/l/_WHyWfejCO39I
https://dl.doubtnut.com/l/_1nX1yr1Q62vu


D. 

Answer: D

Watch Video Solution

a

260. IN 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

△ ABC, + =
cosC + cosA

c + a

cosB
b

1

a

1

b

1

c

a + b

b

261. In △ ABC, 2(b − c)cos2( ) =
A

2

https://dl.doubtnut.com/l/_1nX1yr1Q62vu
https://dl.doubtnut.com/l/_3XlsA6NJRUXO
https://dl.doubtnut.com/l/_f0ABMBHBhMr6


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

b(cosA − cosC)

a(cosB − cosC)

b(cosC − cosA)

a(cosC − cosB)

262. In any , prove that 


A. 

B. 

C. 

D. 

Answer: D

ΔABC

=
c − b cosA

b − c cosA

cosB

cosC

cosC

cosB

−
cosC

cosB

−cosB

cosC

cosB

cosC

https://dl.doubtnut.com/l/_f0ABMBHBhMr6
https://dl.doubtnut.com/l/_cyMK1Yex6Px6


Watch Video Solution

263. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∠A = and b : c = 2: √3, find∠B
π

6

90∘

60∘

45∘

30∘

264. In 

A. 

B. 

ΔABC, =
sin(A − B)

sin(A + B)

a2 − b2

2c2

b2 − c2

2a2

https://dl.doubtnut.com/l/_cyMK1Yex6Px6
https://dl.doubtnut.com/l/_rLsD5we5sr02
https://dl.doubtnut.com/l/_yImVdxwoIWlE


C. 

D. 

Answer: C

Watch Video Solution

a2 − b2

c2

b2 − a2

c2

265. In 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

△ ABC, a2 sin(B − C) =

(b2 − c2)sinA

(c2 − b2)sinA

(2b2 − c2)sinA

2(c2 − b2)sinA

https://dl.doubtnut.com/l/_yImVdxwoIWlE
https://dl.doubtnut.com/l/_fy119yCVo6lD


266. In any triangle 
 prove that: 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ABC,

 a3 sin(B − C) + b3 sin(C − A) + c3 sin(A − B) = 0

a2b2 + b2c2 + a2c2

a + b + c

a2 + b2 + c2

0

267. In any  , find the value of

A. 

B. 

ΔABC

+ +
a2 sin(B − C)

sinB + sinC

b2 sin(C − A)

sinC + sinA

c2 sin(A − B)

sinA + sinB

ab − ac

0

https://dl.doubtnut.com/l/_CKHJ0X9FZ7ze
https://dl.doubtnut.com/l/_8OofwfThdsga


C. 

D. 

Answer: B

Watch Video Solution

bc − ab

ac − bc

268. In any  , find the value of

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ΔABC

+ +
a2 sin(B − C)

sinB + sinC

b2 sin(C − A)

sinC + sinA

c2 sin(A − B)

sinA + sinB

0

a2 − b2

b2 − c2

c2 − a2

https://dl.doubtnut.com/l/_8OofwfThdsga
https://dl.doubtnut.com/l/_ALGdwo7Ec8yK
https://dl.doubtnut.com/l/_tmMBtNQQtRo0


269. In 

A. 

B. 

C. 

D. constant

Answer: D

Watch Video Solution

△ ABC, =
a sin(B − C)

b2 − c2

sinA

−sinA

a sinA

270. In 

A. 

B. 

C. 

D. constant

△ ABC, =
b sin(C − A)

c2 − a2

sinB

−sinB

b sinB

https://dl.doubtnut.com/l/_tmMBtNQQtRo0
https://dl.doubtnut.com/l/_4wu87USJ30Vs


Answer: D

Watch Video Solution

271. In 

A. 

B. 

C. 

D. constant

Answer: D

Watch Video Solution

△ ABC, =
c sin(A − B)

a2 − b2

sinC

−sinC

c sinC

272. In  if the angle A, B, C are in A.P. then 

A. 

ΔABC =
a + c

√a2 − ac + c2

2 cos( )
A − C

2

https://dl.doubtnut.com/l/_4wu87USJ30Vs
https://dl.doubtnut.com/l/_FeSGD0aZ3vqa
https://dl.doubtnut.com/l/_vHVawWgoSNPV


B. 

C. 

D. 

Answer: A

Watch Video Solution

sin(
A + C

2

sin(A)

2

sin( )
C

2

273. In a , if A,B,C are in AP, then  is equal

to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ΔABC sin 2C + (sin 2A)
a

c

c

a

1

√3

1

2

( )
√3

2

https://dl.doubtnut.com/l/_vHVawWgoSNPV
https://dl.doubtnut.com/l/_4xplFWmkhD4V


274. If  and  are in AP, then cotA, cotB and cotC are in

A. A.P

B. G.P

C. H.P.

D. A.G.P.

Answer: A

Watch Video Solution

a2, b2 c2

275. In

A. 

B. 

△ ABC, + + =
cosA

c cosB + b cosC

cosB

a cosC + osA

cosC

a cosB + b cosA

a2 + b2 − c2

4

a2 + b2 − c2

2

https://dl.doubtnut.com/l/_4xplFWmkhD4V
https://dl.doubtnut.com/l/_fK9xDrXdUWft
https://dl.doubtnut.com/l/_a0RvXWv4jk7i


C. 

D. 

Answer: D

Watch Video Solution

a2 + b2 + c2

4abc

a2 + b2 + c2

2abc

276. In a , cosecA(sinBcosC+cosBsinC)` is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ΔABC

1

a

c

c

a

c

ab

https://dl.doubtnut.com/l/_a0RvXWv4jk7i
https://dl.doubtnut.com/l/_s2Ia0XNzLkQV


277. In  if , then the area of

triangle is

A.  sq. units

B.  sqt. Units

C.  sq. units

D.  sq. units

Answer: B

Watch Video Solution

△ ABC, a = 2, B = 120∘ , C = 30∘

1

√3

2√3

( )
√3

2

278. If in  side a=2, then the

area of the triangle is

A.  sq. units

B.  sq. units

ΔABC, = = and
cosA

a

cosB
b

cosC

c

1

2

https://dl.doubtnut.com/l/_ffb6ryCNEb3C
https://dl.doubtnut.com/l/_udUMpiptwuOY


C.  sqt. Units

D.  sq. units

Answer: C

Watch Video Solution

√3

2√3

279. In , if , then cosB=

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

△ ABC a = 13, b = 14, c = 15

198

390

394
390

196

390

500

390

https://dl.doubtnut.com/l/_udUMpiptwuOY
https://dl.doubtnut.com/l/_nH9TtyyDU80v


280. In , if  and  , then 

...................

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

△ ABC a = 13, b = 14 c = 15 sin. =
A

2

1

5

√
1

5

4
5

2

5

281. In , if , then 

A. 

B. 

C. 

△ ABC a = 13, b = 14, c = 15 cos( ) =
A

2

1

√5

2

√5

√5

2

https://dl.doubtnut.com/l/_o1kijhykTcTc
https://dl.doubtnut.com/l/_NRu0htgGL4V2


D. 

Answer: B

Watch Video Solution

√5

4

282. In , if , then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

△ ABC a = 13, b = 14, c = 15 tan( ) =
A

2

4

2

1

4

1

2

283. In , if , then △ ABC a = 13, b = 14, c = 15 A( △ ABC) =

https://dl.doubtnut.com/l/_NRu0htgGL4V2
https://dl.doubtnut.com/l/_z0aXUHSQcUS1
https://dl.doubtnut.com/l/_A1RDwtI4vmT1


A.  sq. units

B.  sq. units

C.  sq. units

D.  sq. units

Answer: C

Watch Video Solution

7

3

84

28

284. In , if , then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

△ ABC a = 13, b = 14, c = 15 sinA =

2

5

4
5

1

5

3

5

https://dl.doubtnut.com/l/_A1RDwtI4vmT1
https://dl.doubtnut.com/l/_wZsRD186Tdeo


285. In any triangle ABC, if 
 , find
 cosA,

cosB, cosC

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

a = \ 18, b = \ 24, c = \ 30

1

5

2

5

3

5

4
5

286. If in , with usual notations , , then 

 is equal to

A. 

△ ABC a = 18, b = 24, c = 30

sin.
A

2

1

√5

https://dl.doubtnut.com/l/_wZsRD186Tdeo
https://dl.doubtnut.com/l/_ff8H5IaNxkbi
https://dl.doubtnut.com/l/_mDvNC5jgDqR1


B. 

C. 

D. 

Answer: B

Watch Video Solution

1

√10

1

√15

1

2√5

287. In , if , then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

△ ABC a = 18, b = 24, c = 30 cos( ) =
A

2

4

√10

3

√10

2

√10

1

√10

https://dl.doubtnut.com/l/_mDvNC5jgDqR1
https://dl.doubtnut.com/l/_SeqOrayJxEtc


288. In , if , then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

△ ABC a = 18, b = 24, c = 30 tan( ) =
A

2

1

3

2

3

4
3

1

289. In , if , then 

A.  sq. units

B.  sq. units

C.  sq. units

D.  sq. units

△ ABC a = 18, b = 24, c = 30 A( △ ABC)

216

54

108

192

https://dl.doubtnut.com/l/_lapTgClGX36J
https://dl.doubtnut.com/l/_wsoHduCvxYv2


Answer: A

Watch Video Solution

290. In any triangle ABC, if , findsinA, sinB, sinC

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

a =  18, b =  24, c =  30

1

5

2

5

3

5

4
5

291. In , if , then 

A. 

△ ABC a = 18, b = 24, c = 30 tanA =

1

https://dl.doubtnut.com/l/_wsoHduCvxYv2
https://dl.doubtnut.com/l/_Eme2AJqSdZRv
https://dl.doubtnut.com/l/_L1rDnEgEfI2F


B. 

C. 

D. 

Answer: B

Watch Video Solution

3

4

2

4

1

4

292. In 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

△ ABC, (b + c − a)tan( ) =
A

2

A( △ ABC)

s

2A( △ ABC)

s

A( △ ABC)

2A( △ ABC)

https://dl.doubtnut.com/l/_L1rDnEgEfI2F
https://dl.doubtnut.com/l/_zIYLEFywAhJX


293. In 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

△ ABC, (c + a − b)tan( ) =
B

2

A( △ ABC)

s

2A( △ ABC)

s

A( △ ABC)

2A( △ ABC)

294. In 

A. 

B. 

C. 

D. 

△ ABC, (a + b − c)tan( ) =
C

2

A( △ ABC)

s

2A( △ ABC)

s

A( △ ABC)

2A( △ ABC)

https://dl.doubtnut.com/l/_9KfGicJJmkfk
https://dl.doubtnut.com/l/_zgrwd9VKNDLt


Answer: B

Watch Video Solution

295. In 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

△ ABC, s(s − a)tan( ) =
A

2

A( △ ABC)

2

2A( △ ABC)

4

A( △ ABC)

2A( △ ABC)

296. In 

A. 

△ ABC, s(s − b)tan( ) =
B

2

A( △ ABC)

2

https://dl.doubtnut.com/l/_zgrwd9VKNDLt
https://dl.doubtnut.com/l/_qFAaWElaSVbP
https://dl.doubtnut.com/l/_zGkRG3eO58fi


B. 

C. 

D. 

Answer: C

Watch Video Solution

2A( △ ABC)

4

A( △ ABC)

2A( △ ABC)

297. In 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

△ ABC, s(s − c)tan( ) =
C

2

A( △ ABC)

2

2A( △ ABC)

4

A( △ ABC)

2A( △ ABC)

https://dl.doubtnut.com/l/_zGkRG3eO58fi
https://dl.doubtnut.com/l/_yaWdf44dBmQw


298. In 

,then the value of x is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ΔABC if 2s = a + b + c and (s − b)(s − c) = x  sin2 A

2

ab

bc

ac

abc

299. In , if 2s=a+b+c , then the value of

 is

A. 

B. 

ΔABC

−
s(s − a)

bc

(s − b)(s − c)

bc

sinA

cosA

https://dl.doubtnut.com/l/_GrL97yPEf3nB
https://dl.doubtnut.com/l/_x7qFnzDjNNyw


C. 

D. 

Answer: B

Watch Video Solution

tanA

cot A

300. In 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

△ ABC, tan( )tan( ) =
A

2
B

2

c − (a + b)

2(a + b + c)

c − (a + b)

a + b + c

a + b − c

2(a + b + c)

a + b − c

a + b + c

https://dl.doubtnut.com/l/_x7qFnzDjNNyw
https://dl.doubtnut.com/l/_MObp5meF1mDA


301. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

InΔABC, 1 − tan( )tan( ) =
A

2
B

2

1

a + b + c

2

a + b + c

c

a + b + c

2c

a + b + c

302. If k be the perimeter of the triangle ABC , then  + c

 is equal to

A. 

B. 

C. 

b cos2( )
C

2

cos2( )
B

2

2s

s

0

https://dl.doubtnut.com/l/_DkMYqtOICFp2
https://dl.doubtnut.com/l/_4ALCZPtSfy0o


D. 

Answer: B

Watch Video Solution

a + b − c

303. In  are in A.P. then 

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

ΔABC, if a, b, c =
2 sin( )sin( )A

2
C

2

sin( )B

2

1

−1

2

3

2

1

2

https://dl.doubtnut.com/l/_4ALCZPtSfy0o
https://dl.doubtnut.com/l/_rVrDvAlpY4dr


304. In 

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

△ ABC, sin( )sin( )sin( ) =
A

2
B

2

C

2

A( △ ABC)

abc

A( △ ABC)

abcs

A( △ ABC)
2

abc

A( △ ABC)2

abcs

305. In any   are in A.P. then

A. 

B. 

C. 

D. 

△ ABC , ,
cot A

2
cot B

2

cot c

2

( )cot( )
a + b + c

b + c − a

A

2

( )cot( )
b + c − a

a + b + c

A

2

( )tan( )
a + b + c

b + c − a

A

2

( )tan( )
b + c − a

a + b + c

A

2

https://dl.doubtnut.com/l/_RokmtpOMnW6v
https://dl.doubtnut.com/l/_I3RNbHTxCgGS


Answer: A

Watch Video Solution

306. In 

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

△ ABC, =
tan( ) − tan( )B

2
C

2

tan( ) + tan( )B

2
C

2

b − c

2a

c − d

2a

b − c

a

c − b

a

307. In 
 
 (b) 


(c) 
(d) 

ABC, ( + )(a + b ) =
cot A

2
cot B

2
sin2 B

2
sin2 A

2
cot C

otC
cot C

2
ot

C

2

https://dl.doubtnut.com/l/_I3RNbHTxCgGS
https://dl.doubtnut.com/l/_XSqx3BUh1Xbg
https://dl.doubtnut.com/l/_Y2ZLJtrRDHdC


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

cot( )
C

2

ot( )
C

2

cot C

otC

308. In any

is equal

A. 

B. 

C. 

D. 

ΔABC, ( )cos2( ) + ( )cos2( ) + ( )cos2( )
b − c

a

A

2
c − a

b

b

2
a − b

2

C

2

0

(s − a)(s − b)

(s − b)(s − c)

(s − c)(s − a)

https://dl.doubtnut.com/l/_Y2ZLJtrRDHdC
https://dl.doubtnut.com/l/_8Un1VEBPeufw


Answer: A

Watch Video Solution

309. If in a triangle 
 then the sides 



are in A.P.
b. are in G.P. c. are in H.P. d. satisfy 

A. A.P

B. G.P

C. H.P.

D. A.G.P.

Answer: A

Watch Video Solution

ABC, a cos2( )os2( ) = ,
C

2

A

2
3b
2

a, b, andc a + b = ⋅

310. If the cotangents of half the angles of a triangle are in A.P., then

prove that the sides are in A.P.

https://dl.doubtnut.com/l/_8Un1VEBPeufw
https://dl.doubtnut.com/l/_22YgXydJvDaz
https://dl.doubtnut.com/l/_swy6wS08ie93


A. H.P

B. G.P

C. A.P

D. A.G.P

Answer: C

Watch Video Solution

311. The principal value of  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

sin− 1( )
1

2

π

6

−π

6

π

3

2π

3

https://dl.doubtnut.com/l/_swy6wS08ie93
https://dl.doubtnut.com/l/_pbbC3JABK04q


Watch Video Solution

312. Find the principal value of 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sin− 1( )
1

√2

−π

4

3π

4

π

4

−5π

4

313. The principal solution of  is

A. 

B. 

C. 

sinx =
−1

2

π

6

−π

6

5π

6

https://dl.doubtnut.com/l/_pbbC3JABK04q
https://dl.doubtnut.com/l/_CZSFWCkFMWOZ
https://dl.doubtnut.com/l/_1mEx156W3gHc


D. 

Answer: B

Watch Video Solution

7π
6

314. The principal solution of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sinx = −
√3

2

4π
3

−π

3

π

3

−2π

3

https://dl.doubtnut.com/l/_1mEx156W3gHc
https://dl.doubtnut.com/l/_TRJdTEfv71Qv


315. निम्नलिखित के  मुख्य मानो को ज्ञात कीजिए : 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

cos − 1 ( )
√3

2

−11π

6

11π

6

−π

6

π

6

316. Select and write the correct answer from the alternatives in each of

the following : 

The principal solution of  is :

A. 

cos − 1( − )
1

2

π

3

https://dl.doubtnut.com/l/_w6yMSH6CwmIJ
https://dl.doubtnut.com/l/_Qd11OuyOUgke


B. 

C. 

D. 

Answer: C

Watch Video Solution

π

6

2π

3

3π

2

317. निम्नलिखित के  मुख्य मानो को ज्ञात कीजिए : 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

tan− 1 ( − 1)

3π

4

π

4

7π
4

−π

4

https://dl.doubtnut.com/l/_Qd11OuyOUgke
https://dl.doubtnut.com/l/_SqXY7U6GfQNs


318. The principal value of  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

tan− 1( − √3)

−π

3

π

3

5π

3

2π

3

319.  का मुख्य मान ज्ञात कीजिए ।

A. 

B. 

C. 

cot − 1( )
−1

√3

2π

3

−2π

3

5π

3

https://dl.doubtnut.com/l/_SqXY7U6GfQNs
https://dl.doubtnut.com/l/_atgCNjWHHCsZ
https://dl.doubtnut.com/l/_2qfD1BwQo2Vv


D. 

Answer: A

Watch Video Solution

4π
3

320. Find the principal and general solution of 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

cos ecx = 2

π

3

2π

3

π

6

5π

6

321. The value of  is sin− 1(sin' )
3π

5
…..

https://dl.doubtnut.com/l/_2qfD1BwQo2Vv
https://dl.doubtnut.com/l/_h8RY1DAV23R2
https://dl.doubtnut.com/l/_66gVQI9T5EG3


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2π

5

−2π

5

−3π

5

3π

5

322. Find the principal values of the following : 

(i)  (ii)  (iii) 

A. 

B. 

C. 

D. 

Answer: D

sin− 1(sin. )
5π

3
cos − 1 cos( )

4π
3

cos[ + cos − 1( − )]
π

3

1

2

4π
3

5π

3

−5π

3

−π

3

https://dl.doubtnut.com/l/_66gVQI9T5EG3
https://dl.doubtnut.com/l/_EmOJWuKj0Ccf


Watch Video Solution

323.  का मान बराबर है

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

cos − 1(cos )
7π
6

7π
6

5π

6

π

6

11π

6

324. The principal solution of  is

A. 

B. 

cos − 1(cos( ))
9π

4

7π
4

−π

4

https://dl.doubtnut.com/l/_EmOJWuKj0Ccf
https://dl.doubtnut.com/l/_zu5P732fYDZt
https://dl.doubtnut.com/l/_rl673VjpkbTf


C. 

D. 

Answer: D

Watch Video Solution

9π

4

π

4

325. निम्नलिखित के  मान ज्ञात कीजिए : 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

tan− 1(tan )
3π

6

7π
6

π

6

−π

6

−5π

6

https://dl.doubtnut.com/l/_rl673VjpkbTf
https://dl.doubtnut.com/l/_GHG668Nsvtic
https://dl.doubtnut.com/l/_eQ5pmH8CGKra


326. निम्नलिखित के  मान ज्ञात कीजिए : 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

cos − 1(cos )
3π

6

−π

6

11π

6

π

6

13π

6

327. The value of 
is
 
(b) 
(c)


(d) 0

A. 

B. 

cos − 1( ) + sin− 1( )
cos(5π)

3

sin(5π)

3

π

2

5π

3
10π

3

0

π

2

https://dl.doubtnut.com/l/_eQ5pmH8CGKra
https://dl.doubtnut.com/l/_c8HHqciG7dae


C. 

D. 

Answer: A

Watch Video Solution

2π

3

10π

3

328. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

cos − 1( ) + 2 sin− 1( ).
1

2

1

2

π

6

π

3

2π

3

0

https://dl.doubtnut.com/l/_c8HHqciG7dae
https://dl.doubtnut.com/l/_owRny12BGvTQ


329. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

sin− 1( ) − 3 sin− 1( ) =
1

√2

√3

2

−π

12

5π

4

3π

4

−3π

4

330. 

A. 

B. 

C. 

D. 

cos ec− 1( − √2) + cot − 1(√3) =

−π

4

5π

12

−π

12

π

6

https://dl.doubtnut.com/l/_9BS8Bp044oL9
https://dl.doubtnut.com/l/_lEoeII3HguER


Answer: C

Watch Video Solution

331. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

tan− 1 √3 − sec− 1( − 2) =
π

3

π

3

2π

3

(π)

−π

3

332. 

A. 

tan− 1(1) + cos − 1( ) + sin− 1( ) =
1

2

1

2

π

4

https://dl.doubtnut.com/l/_lEoeII3HguER
https://dl.doubtnut.com/l/_wSLAQvHWfSZL
https://dl.doubtnut.com/l/_Aw9kdjdt7Jv6


B. 

C. 

D. 

Answer: B

Watch Video Solution

3π

4

π

12

2π

3

333. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

cos − 1 √1 − x + sin− 1 √1 − x =

π

4

1

π

π

2

https://dl.doubtnut.com/l/_Aw9kdjdt7Jv6
https://dl.doubtnut.com/l/_dDGyuPmHwaYd


334. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

cos − 1( ) + cos − 1( ) =
3

5
4
5

3π

2

π

2

−π

2

0

335. The value of  is

A. 

B. 

C. 

D. 

sin− 1( ) + sin− 1( )
2√2

3

1

3

π

2

3π

2

9π

4

9π

8

https://dl.doubtnut.com/l/_9JDyBuTHOwxy
https://dl.doubtnut.com/l/_aXBTiyZ8lHLn


Answer: A

Watch Video Solution

336. The value of 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sin( + ) = ?
sin− 1 1

2

cos − 1 1

2

2

−2

1

−1

337. =
tan− 1(√3) − sec− 1( − 2)

cos ec− 1( − √2) + cos − 1( − )1
2

https://dl.doubtnut.com/l/_aXBTiyZ8lHLn
https://dl.doubtnut.com/l/_ZhxKAOMJo1vx
https://dl.doubtnut.com/l/_FfXVl6q8xYPV


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

4
5

−4
5

3

5

0

338. Find the value of 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

tan− 1( ) − tan− 1( )
x

y

x − y

x + y

π

4

π

3

π

2

or
π

4

−3π

4

https://dl.doubtnut.com/l/_FfXVl6q8xYPV
https://dl.doubtnut.com/l/_jcsAKzdoApB0


Watch Video Solution

339. निम्नलिखित फलनों को सरलतम रूप में लिखिए : 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

tan− 1 ( ), < x <
cos x − sinx

cos x + sinx

π

4

3π

4

−x

x

− x
π

4

+ x
π

4

340. Show that .

A. 

B. 

tan− 1[ ] = + x
cos x + sinx

cos x − sinx

π

4

−x

x

https://dl.doubtnut.com/l/_jcsAKzdoApB0
https://dl.doubtnut.com/l/_FLj1o8qfX7Z5
https://dl.doubtnut.com/l/_YhoLX3soRr53


C. 

D. 

Answer: D

Watch Video Solution

− x
π

4

+ x
π

4

341.  को सरल कीजिए, यदि 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

tan− 1 [ ]
a cos x − b sinx

b cos x + a sinx
tanx ≤ − 1

a

b

tan− 1( ) + x
b

a

tan− 1( ) − x
b

a

tan− 1( ) + x
a

b

tan− 1( ) − x
a

b

https://dl.doubtnut.com/l/_YhoLX3soRr53
https://dl.doubtnut.com/l/_DAskuMTBppxk


342. Differentiate w.r.t. x: 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(i)tan− 1{√ }      (ii)tan− 1{√ }
1 + cos x

1 − cos x

1 + sinx

1 − sinx

x

2

−x

2

+
π

2
x

2

−
π

2
x

2

343. If . 

Then, the value of y is

A. 

B. 

tan− 1 y = tan− 1 x + tan− 1( ), where|x| <
2x

1 − x2

1

√3

3x − x2

1 + 3x2

3x + x2

1 + 3x2

https://dl.doubtnut.com/l/_D5ypneB5Wv3k
https://dl.doubtnut.com/l/_649vNXkxxZbL


C. 

D. 

Answer: C

Watch Video Solution

3x − x2

1 − 3x2

3x + x2

1 − 3x2

344. If  then A=

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

tan− 1 x − tan− 1 y = tan− 1 A,

x − y

1 + xy

x + y

1 − xy

x − y

x + y

https://dl.doubtnut.com/l/_649vNXkxxZbL
https://dl.doubtnut.com/l/_IOd70Tr40uWJ


345. If x takes negative permissible vlaue then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sin− 1 x =

cos − 1(√1 − x2)

−cos − 1(√1 − x2)

π − cos − 1(√1 − x2)

cos − 1(√x2 − 1)

346. Differentiate each of the following functions with respect to 

`sin^(-1)(2xsqrt(1-x^2)),-1/(sqrt(2))

A. 

B. 

C. 

x :

2 cos − 1 x

cos − 1 x

2 sin− 1 x

https://dl.doubtnut.com/l/_GthtMO1am54V
https://dl.doubtnut.com/l/_cW3arbkbQud4


D. 

Answer: C

Watch Video Solution

sin− 1 x

347. If , then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x ∈ [0, 1] cos − 1( ) =
1

2

1 − x

1 + x

tan− 1 x

tan− 1(√x)

tan− 1 x
1

2

tan− 1(√x)
1

2

https://dl.doubtnut.com/l/_cW3arbkbQud4
https://dl.doubtnut.com/l/_62badetQwrqE


348. Prove that : 
 , if 


 
and 
.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

{ + } =
tan 1

2

sin− 1(2x)

1 + x2

cos − 1(1 − y2)

1 + y2

x + y

1 − xy

|x| < 1, y > 0 xy < 1

x − y

1 + xy

y − x

1 + xy

x + y

1 − xy

x + y

xy − 1

349. Solve 

A. 

B. 

C. 

y = tan− 1( )
√1 + x2 − 1

x

x

2

tan− 1 x
1

2

tan− 1 x

https://dl.doubtnut.com/l/_YNOrus8DRP9v
https://dl.doubtnut.com/l/_CABKUAy0Ummy


D. 

Answer: B

Watch Video Solution

2 tan− 1 x

350. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

tan− 1( )
√1 + x + √1 − x

√1 + x − √1 − x

− cos − 1 x
π

2

+ cos − 1 x
π

2

− cos − 1 x
π

4

1

2

+ cos − 1 x
π

4

1

2

https://dl.doubtnut.com/l/_CABKUAy0Ummy
https://dl.doubtnut.com/l/_yjhTp6R6RUFF


351. If , then find the value of 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x ∈ (0, 1)

tan− 1( ) + cos − 1( )
1 − x2

2x

1 − x2

1 + x2

0

π

π

4

π

2

352. Simplify .

A. 

B. 

C. 

sin(cot − 1(cos(tan− 1 x))), 0 < x < 1

x

√x2 + 1

x

√x2 + 2
√x2 + 1

√x2 + 2

https://dl.doubtnut.com/l/_0no12tlH1jrp
https://dl.doubtnut.com/l/_PtAEq1PH9uG3


D. 

Answer: C

Watch Video Solution

1

√x2 + 2

353. If 
 then find the value of 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x > y > z > 0,

+ +
cot − 1(xy + 1)

x − y

cot − 1(yz + 1)

zy − z

cot − 1(zx + 1)

z − x

0

1

cot − 1 x + cot − 1 y + cot − 1 z

π

https://dl.doubtnut.com/l/_PtAEq1PH9uG3
https://dl.doubtnut.com/l/_TFpDFN6EYasO


354. If 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sin− 1 x + sin− 1 y = , then cos − 1 x + cos − 1 y
2π

3

π

6

π

4

π

3

π

2

355. If , then the value of x is

A. 

B. 

C. 

D. 

sin− 1( ) + cos ec− 1( ) =
x

5

5

4

π

2

1

3

4

5

https://dl.doubtnut.com/l/_8FDANmB5JowX
https://dl.doubtnut.com/l/_kxEzmVZvZYmP


Answer: B

Watch Video Solution

356. If  =1 then x is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sin( + cos − 1 x)
sin− 1 1

5

−1

5

1

5

−5

5

357. If , then  is equal to

A. 

4 sin− 1 x + cos − 1 x = π x

0

https://dl.doubtnut.com/l/_kxEzmVZvZYmP
https://dl.doubtnut.com/l/_QFpafyQvFsm5
https://dl.doubtnut.com/l/_ZaV4ajjbQBab


B. 

C. 

D. 

Answer: B

Watch Video Solution

1

2

1

√2

√3

2

358. If  then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

sin− 1(x) + sin− 1(2x) =
π

3
x =

√3

2√7
1

2

1

√2

√3

2

https://dl.doubtnut.com/l/_ZaV4ajjbQBab
https://dl.doubtnut.com/l/_2rQgHUB3Qu9N


359. For , if 

,

then x=

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

0 ≤ |x| ≤ √2

cos − 1(x2 − + − …) + sin− 1(x − + ) − …) =
x4

2
x6

4
x2

2
x3

4

π

2

−1

2

1

2

−1

1

360. If 
then find the values of 

A. 

B. 

cos(2 sin− 1 x) = ,
1

9
x.

4
9

±
2

3

https://dl.doubtnut.com/l/_BlHt4mtEhPj5
https://dl.doubtnut.com/l/_u0dh3klO4YWh


C. 

D. 

Answer: B

Watch Video Solution

2

3

−2

3

361. IF  then x=

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

tan− 1 2x + tan− 1 3x = ,
π

4

1

−1

1

3

1

6

https://dl.doubtnut.com/l/_u0dh3klO4YWh
https://dl.doubtnut.com/l/_ZmcOvgPgZNsv


362. If  then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

tan− 1(1 + x) + tan− 1(1 − x) =
π

2
x = ?

−1

0

1

π

363. If , then find the value of x.

A. 

B. 

C. 

D. 

+ =
tan− 1(x − 1)

x − 2

tan− 1(x + 1)

x + 2

π

4

1

2

±
1

2

±
1

√2

±√2

https://dl.doubtnut.com/l/_n5sEfGf90nCq
https://dl.doubtnut.com/l/_ITsvfL2T6DCo


Answer: C

Watch Video Solution

364. If  then x=

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x ≥ 0 and tan− 1( ) = tan− 1 x,
1 − x

1 + x

1

2

3

2

1

√3

1

√2

365. If  is

A. 

tan− 1. = α  , then x2
√(1 + x2) − √(1 − x2)

√(1 + x2) + √(1 − x2)

sinϕ

https://dl.doubtnut.com/l/_ITsvfL2T6DCo
https://dl.doubtnut.com/l/_tYrh1xQ8tUNR
https://dl.doubtnut.com/l/_418Nu0dri9nA


B. 

C. 

D. 

Answer: C

Watch Video Solution

cos ϕ

sin 2ϕ

cos 2ϕ

366. If , then x=

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2 tan− 1(cos x) = tan− 1(2 cos ecx)

π

4

−π

4

π

3

π

6

https://dl.doubtnut.com/l/_418Nu0dri9nA
https://dl.doubtnut.com/l/_60AUDinqRiL0


367. If , then sinx +cosx is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2 tan− 1(cos x) = tan− 1(2 cos ecx)

2√2

√2

1

√2

1

2

368. If , then x=

A. 

B. 

C. 

D. 

cos ec− 1x = 2 cot − 1 7 + cos − 1( )
3

5

117
44

117
22

125

117

175

117

https://dl.doubtnut.com/l/_Zst2jQ7bDQGN
https://dl.doubtnut.com/l/_dV5wY3fOZwAl


Answer: C

Watch Video Solution

369. If  then x equal

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sin− 1(1 − x)sin− 1 x =
π

2

−1

2

1

0

1

2

370. If , then x=

A. 

sin− 1(1 − x) − 2 sin− 1 x = cos − 1 x

0,
1

2

https://dl.doubtnut.com/l/_dV5wY3fOZwAl
https://dl.doubtnut.com/l/_n8hMVQtWVRKH
https://dl.doubtnut.com/l/_yl1o2eMRMeTu


B. 

C. 

D. 

Answer: C

Watch Video Solution

1

0

1

2

371. If , then

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

tan− 1 x + cos − 1( ) = sin− 1( )
y

√1 + y2

3

√10

x = 2, y = 1

x = 2, y = 3

x = 3, y = 2

x = 1, y = 2

https://dl.doubtnut.com/l/_yl1o2eMRMeTu
https://dl.doubtnut.com/l/_hGj92meXLTBK


372. Solve, 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(sec− 1) − (sec− 1) = sec− 1 b − sec− 1 a.
x

a

x

b

1

pq

p

q

q

p

373. 

A. 

B. 

C. 

D. 

2 sin− 1( ) =
3

5

tan− 1( )
4
3

tan− 1( )
7
24

tan− 1( )
3

4

tan− 1( )
24

7

https://dl.doubtnut.com/l/_r6RfQ6xjEMPO
https://dl.doubtnut.com/l/_OdEUM9cmv66U


Answer: D

Watch Video Solution

374. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2 tan− 1( ) =
1

3

−tan− 1( )
4
3

−tan− 1( )
3

4

tan− 1( )
4
3

tan− 1( )
3

4

375. Prove that: 

A. 

2 + =
tan− 1 1

2
tan− 1 1

7

tan− 1(31)

17

tan− 1( )
31

17

https://dl.doubtnut.com/l/_OdEUM9cmv66U
https://dl.doubtnut.com/l/_OTneUzlG23Ap
https://dl.doubtnut.com/l/_SU6BiI6TJkAi


B. 

C. 

D. 

Answer: A

Watch Video Solution

tan− 1( )
25

21

tan− 1( )
17
3

tan− 1( )
21

25

376. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2 tan− 1( ) + tan− 1( ) =
1

3

1

2

π

2

π

3

π

4

tan− 1 2

https://dl.doubtnut.com/l/_SU6BiI6TJkAi
https://dl.doubtnut.com/l/_TbLvYtTsAOe9


377. Evaluate: 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

tan{2tan − 1 − }
1

5

π

4

−17

7

−7

17

17

7

7

17

378. 

A. 

B. 

C. 

D. 

tan− 1( ) + tan− 1( ) =
1

2

2

11

tan− 1( )
4
3

tan− 1( )
3

4

π + tan− 1( )
4
3

π + tan− 1( )
3

4

https://dl.doubtnut.com/l/_HKl3W5Uxw9vw
https://dl.doubtnut.com/l/_8eAGksxa5NiB


Answer: B

Watch Video Solution

379. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

tan− 1( ) + tan− 1( ) =
1

2

1

3

0

π

6

π

4

−π

4

380. 

A. 

cos(tan− 1( ) + tan− 1( )) =
1

3

1

2

−1

√2

https://dl.doubtnut.com/l/_8eAGksxa5NiB
https://dl.doubtnut.com/l/_YLtekNCM0Juh
https://dl.doubtnut.com/l/_B5BfTdrjPbJG


B. 

C. 

D. 

Answer: B

Watch Video Solution

1

√2

1

2

−1

2

381. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

tan− 1 1 + tan− 1 2 + tan− 1 3 =

0

π

π

4

π

2

https://dl.doubtnut.com/l/_B5BfTdrjPbJG
https://dl.doubtnut.com/l/_4HCFS9kbSVSm


382. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

tan− 1( ) + tan− 1( ) − tan− 1( ) =
3

4

3

5

8

19

π

6

π

4

π

3

0

383. 

A. 

B. 

C. 

D. 

tan− 1( ) + tan− 1( ) + tan− 1( ) + tan− 1( ) =
1

5

1

7

1

3

1

8

π

2

π

3

π

6

π

4

https://dl.doubtnut.com/l/_6L8CpbT9VlLj
https://dl.doubtnut.com/l/_0fo3T5J4ihwB


Answer: D

Watch Video Solution

384. Prove that .

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

sin− 1( − ) + cos − 1( − ) = cos − 1( − )
1

2

√3

2

1

2

cos − 1( )
−1

2

cos − 1( )
1

2

cos − 1( )
−√3

2

cos − 1( )
√3

2

385. =cos − 1( ) + sin− 1( )
12

13

3

5

https://dl.doubtnut.com/l/_0fo3T5J4ihwB
https://dl.doubtnut.com/l/_8UjoCUivu5ZQ
https://dl.doubtnut.com/l/_7kg3rz1Kj4ym


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

sin− 1( )
56

65

sin− 1( )
16

65

sin− 1( )
20

65

sin− 1( )
36

65

386. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sin− 1( ) + sin− 1( ) =
8

17

3

5

−sin− 1( )
77
85

sin− 1( )
4
5

sin− 1( )
77
85

tan− 1( )
77
86

https://dl.doubtnut.com/l/_7kg3rz1Kj4ym
https://dl.doubtnut.com/l/_S8uyLI5myqw0


Watch Video Solution

387. =

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

cos − 1( ) + cos − 1( )
4
5

12

13

cos − 1( )
48
65

cos − 1( )
33

65

cos − 1( )
11

65

π − cos − 1( )
8

65

388. 

A. 

B. 

C. 

sin− 1( ) + sin− 1( ) =
8

17

3

5

tan− 1( )
77

36

tan− 1( )
77

85

π + tan− 1( )
77

36

https://dl.doubtnut.com/l/_S8uyLI5myqw0
https://dl.doubtnut.com/l/_czro2Q7lAokw
https://dl.doubtnut.com/l/_bEk6mZsfYVgb


D. 

Answer: A

Watch Video Solution

π − tan− 1( )
77
36

389. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sin− 1( ) + cos − 1( ) =
5

13

3

5

tan− 1( )
5

12

tan− 1( )
63

16

tan− 1( )
4
3

tan− 1( )
9

4

390. tan(sin− 1( ) + cos − 1( ) =
3

5

3

√13

https://dl.doubtnut.com/l/_bEk6mZsfYVgb
https://dl.doubtnut.com/l/_4ew1mSWSnIOz
https://dl.doubtnut.com/l/_oMRsnWwnqM3i


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

√13

5

5

√13

17
6

17
9

391. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

tan(cos − 1( ) + tan− 1( )) =
4
5

2

3

17
24

24

17

17
6

6

17

https://dl.doubtnut.com/l/_oMRsnWwnqM3i
https://dl.doubtnut.com/l/_NKLaBbOoxQX6


Watch Video Solution

392. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

tan− 1( ) + cos − 1( ) =
5

13

3

5

tan− 1( )
67
19

tan− 1( )
1

59

tan− 1( )
19

67

tan− 1(59)

393. Prove that:


A. 

B. 

C. 

+ + = π
sin− 1(12)

13

cos − 1 4

5

tan− 1(63)

16

π

2

π

tan− 1( )
12

5

https://dl.doubtnut.com/l/_NKLaBbOoxQX6
https://dl.doubtnut.com/l/_FRMcfepkGWOo
https://dl.doubtnut.com/l/_bQNtfx6XXEA0


D. 

Answer: B

Watch Video Solution

tan− 1( )
3

4

394. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

tan(tan− 1( ) − tan− 1( )) =
1

2

1

3

1

6

1

7

5

6

7
6

395. Find the value of expression: sin(2 ) + cos(tan− 1 2√2)
tan− 1 1

3

https://dl.doubtnut.com/l/_bQNtfx6XXEA0
https://dl.doubtnut.com/l/_JufmLZzW8il6
https://dl.doubtnut.com/l/_RAVPA5dEBi5A


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

11

15

12

15

14
15

16

15

396. If , then x=

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

sin(cot − 1(x + 1)) = cos tan− 1x

0

9

4

1

2

−1

2

https://dl.doubtnut.com/l/_RAVPA5dEBi5A
https://dl.doubtnut.com/l/_t9Z5EkNVYgEx


397. =

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

sin(sin− 1( ) + sec− 1(3)) + cos(tan− 1( ) + tan− 1 2)
1

3

1

2

1

2

0

−1

398. If , then 

A. 

B. 

C. 

x = 2. y = 3 tan− 1 x + tan− 1 y =

π

4

π

3

−π

4

https://dl.doubtnut.com/l/_t9Z5EkNVYgEx
https://dl.doubtnut.com/l/_koiPKdHCalls
https://dl.doubtnut.com/l/_0uIl4XuydhRW


D. 

Answer: C

Watch Video Solution

π

399. If , then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

cos − 1 x + cos − 1 y + cos − 1 z + cos − 1 t = 4π

x2 + y2 + z2 + t2 =

6

4

xy + yz + zt

1 − 2xyzt

https://dl.doubtnut.com/l/_0uIl4XuydhRW
https://dl.doubtnut.com/l/_QBIBvwHWLheq


400. In , if 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

△ ABC

∠A = 90∘ , then tan− 1( ) + tan− 1( ) =
c

a + b

b

a + c

π

8

π

2

π

4

π

6

401. The number of principal solution of  is

A. one

B. two

C. three

tan 2θ = 1

https://dl.doubtnut.com/l/_O6sOx26fg88l
https://dl.doubtnut.com/l/_eEVqYdoAVCu2


D. four

Answer: D

Watch Video Solution

402. If  are the roots of the equation , then

the value of the  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

α and β x2 + 5|x| − 6 = 0

∣∣tan− 1 α − tan− 1 β∣∣

π

2

0

π

π

4

https://dl.doubtnut.com/l/_eEVqYdoAVCu2
https://dl.doubtnut.com/l/_AdtmLcBq2WYF


403. In , if  then the

maximum value of the area of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ΔABC sin2 A + sin2 B = sin2 C and l(AB) = 10,

ΔABC

50

10√2

25

25√2

404. The value of  is

A. 

B. 

C. 

cos − 1(cos( )) + cos − 1(sin( ))
π

2

2π

3

2π

3

π

3

π

2

https://dl.doubtnut.com/l/_WoPdixVxBY4r
https://dl.doubtnut.com/l/_eAIQkAd2Gil5


D. 

Answer: A

Watch Video Solution

π

https://dl.doubtnut.com/l/_eAIQkAd2Gil5

